COMMONWEALTH OF PENNSYLVANIA

RACE

DNA

Plate #

VIN

☐ Female

ETHNICITY

				, ,							
COMMON	WEALTH O	F		* * *		POLICE	E CRIN	IINA	AL COM	/IPLAINT	<u>-</u>
PENNSYLV	'ANIA			ACAN		COMMO	NWEAL.	тн с	F PENNS	SYLVANIA	L
COUNTY C	F: PHILAD	ELPHIA			N.	•••••		vs			
Magisterial Dis	strict Number:	CJC									
MDJ: Hon. Ci	riminal Justi	ce Cente	r	DEFEND	ANT:		(NAME	and A	DDRESS):		
Address: 13	01 Filbert St			Jonathan				Bar			
Ph	niladelphia, P	A 19106		First Name		Middle Na		La	st Name		Gen.
Telephone: (2	(15) 683-728	3		3215 N. 271	in St, Phila	idelphia, Pi	4 19129			•	
				NCIC Extrac	iition Code	Туре					
1-Felony Ful		☐ 5-Fe	lony Pend	l	☐ C-Misd	emeanor Surr	ounding Sta	tes		Distance:	
☐ 2-Felony Ltd		☐ 6-Fe	lony Pend	l. Extradition Determ.	☐ D-Misd	emeanor No E	Extradition				
☐ 3-Felony Sui	rounding States	A-Mi	sdemean	or Full	☐ E-Misd	emeanor Pen	ding				
☐ 4-Felony No	Ext.	☐ B-Mi	sdemean	or Limited		emeanor Pen		ion De	term.		
				DEFENDANT IDENTI				igitida ja			
Docket Numbe	r	Date Filed	i 	OTN/LiveScan Nur	I	mplaint Num FI230125		ent Ni	ımber R	equest Lab Se	
GENDER	ров 03 / 19/	1984	POB			م	dd'I DOB			Co-Defendan	ıt(s) 🗵
Male	First I	Name			Middle Name	e	Las	t Nam	e		Gen.
☐ Female	AKA										
RACE	White		Asia		Black	L				Unknown	
ETHNICITY	Hispanic	—		Non-Hispanic	C 00V (0			Unk		\	Danisia
HAIR COLOR		GRY(• • • • • • • • • • • • • • • • • • • •	_	SDY (Sand		• •	_	PLE (Purple		
		BLK (E	ыаск) Blonde / St	_	☐ WHI (White) X XXX	(Unk./Bald)	L	GRN (Green	i)	rink)
EYE COLOR	3-1111	☐ BLK (E	Black)	BLU (Blue)	⋉ BRO	(Brown)	☐ GRN	(Green)	GRY (Gray)	
		☐ HAZ (Hazel)	MAR (Maroon)	☐ PNK	(Pink)	☐ MUL	(Muitico	olored)	XXX (Unkno	wn)
DNA	YES [] NO	DNA Lo							WEIGH	Γ (lbs.)
FBI Number	506379DI	H8		P	NNU Numbe	r				21	5
Defendant Fin	gerprinted	YES [□ NO							Ft. HEIG	HT In.
Fingerprint Cla	ssification:									5	8
				DEFENDANT VE	HICLE INFO	RMATION			OIL NOIS	15-1- O-J-	n n
Plate #	State	Hazma	,	egistration ker (MM/YY) /	Comm'	1 1 1	School Veh.		Oth. NCIC		Reg. same as Def.
VIN		'	Year	Make	Model		Style	!	C	Color	
Office of the	attorney for	the Comn	nonwea	lth ☐ Approved ☐	 _ Disappro	ved becau	se:				
	or the Commonv a.R.Crim.P. 507		require the	at the complaint, arrest v	warrant affida	ivit, or both be	approved b	y the	attorney for t	he Commonwe	alth prior
ū		,							6	. 11. 211	
SDAG Jaso	****						12.5			//11/24	_
(Name of the atto	rney for the Comm	ionwealth)		(Signature of the	attorney for th	e Commonweal	th)		(Da	ite)	
Special Agent Catherine Berner				Badge #916							
(Name of the Affiant)				(PSP/MPOETC -Assigned Afflant ID Number & Badge #)							
of Pennsylvania Office of Attorney General PA022					PA0222400						
				Political Subdivision)		Agency ORI	Number)				

ame of the attorney for the Commonwealth) (Signature of the	le attorney for the Commonwealth) (Date)
Special Agent Catherine Berner	Badge #916
(Name of the Affiant)	(PSP/MPOETC -Assigned Afflant ID Number & Badge #)
F Pennsylvania Office of Attorney General	PA0222400
(Identify Department or Agency Represented and Political Subdivision) do hereby state: (check appropriate box)	(Police Agency ORI Number)
 I accuse the above named defendant who lives at the I accuse the defendant whose name is unknown to n 	
therefore designated as John Doe or Jane Doe with violating the penal laws of the Commonwealth of	Pennsylvania at [301] (Subdivision Code) (Place-Political Subdivision)
2407 N Patton St, Philadelphia, PA 19132	



					**	See Po	JLI	CE C	KIMIN	IAL C	OWPLAIN
Docket Number:	Date File	d: OTN/I	LiveScan N	Number		Compla MFI		umber 12511		ncident N	lumber
Defendant Name	First: Jonath	an		Middle:			La	st: Bank:	s		
The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a <i>brief</i> summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.)											
Inchoate	. 1	Solicitati 18 902 A	lon		nspirac 903	у		Numbe	r of Victims	Age 60 o	r Older
☑ 1	1407	A(1)	of the	62 P.		1		F3	26		
PennDOT Data	Section Accident Number	Subsection		PA Statute		Counts Interstate	G	irade	NCIC Offer Safety Zone	1	UCR/NIBRS Code Work Zone
(if applicable) Statute Description (i		ıme of statu	te or ordin	nance):		<u> </u>					
MEDICAID FRAUD - PR Acts of the accused a				FRAUDU	LENT C	LAIM UNDE	R ME	DICAL	ASSISTAN	CE (1 CO	NTINUOUS COUNT
Knowingly or intentic and/or causing to be for services under M	submitted fa	lse informat	tion for the	e purpose	e of ob	taining gre	eater	compe	ensation t	han that	to which entitled
Inchoate		☐ Solicitati 18 902 A			nspirac 903	У		Numbe	r of Victims	Age 60 c	or Older
	1407	A(4)	of the	62 P.S		1	F3		2699		1100411200
Lead? Offense# PennDOT Data	Section Accident	Subsection	F	A Statute (T		Counts Interstate	Grad		ICIC Offense Safety Zon	Į.	UCR/NIBRS Code Work Zone
(if applicable) Statute Description (i					1				~	1	
MEDICAID FRAUD -				ICE NO	TREN	DERED T	ΌΑ	RECIP	PIENT (1	CONTIN	UOUS COUNT)
Acts of the accused a Causing to be submit				not rend	dered t	o a recipie	ent. S	See att	ached Af	fidavit of	Probable
Cause, incorporated						,					
Inchoate		Solicitat			onspirac 903	у		Numbe	or of Victim	s Age 60 d	or Older
□ 3	1407	A(7)	of the	62 P.S		1	F3		2699		
Lead? Offense# PennDOT Data (if applicable)	Section Accident Number	Subsection	F	PA Statute (1		Counts Interstate	Grad		CIC Offense Safety Zon	- 1	UCR/NIBRS Code Work Zone
Statute Description (i					PESE	NTEDIA	IFO!	?MAT		ONTINI	LIOUS COLINT
Acts of the accused				MIONEF	NEGE	TALED II	*1 01	- VIAIL			
Causing claims to be identity, actual providincorporated by refer	subnmitted v ler, or attendi	which misre	presented								
			suuramma		···	- {}{}	<u> </u>				<u> </u>



						-KINIINAL	COMPLAINI		
Docket Number:	Date Filed: / /	OTN/LiveScan N	lumber		nt Number 3012511		ıt Number		
Defendant Name	First: Jonathar)	Middle:	•	Last: Bank	Last: Banks			
The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a <i>brief</i> summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.) Incheste									
Inchoate		Solicitation 18 902 A	☐ Conspirad 18 903	у	Numbe	er of Victims Age 6	60 or Older		
		A(9) of the	62 P.S.	1 Counts	F3 Grade	2699 NCIC Offense Co	de UCR/NIBRS Code		
PennDOT Data (if applicable)	Accident	ubsection] Interstate		Safety Zone	☐ Work Zone		
Statute Description (inc MEDICAID FRAUD -			•	NDERED	BY PRO\	/IDER (1 CON	TINUOUS COUNT		
Acts of the accused as Causing claims to be See attached Affidavit	submitted for	services, to wit, dire		services, v	vhich were	e not rendered b	by the provider.		
Inchoate		Solicitation 18 902 A	☐ Conspirac 18 903	у	Numbe	er of Victims Age	60 or Older		
<u> </u>		\(12) of the	62 P.S.	1 Counts	F3	2699 NCIC Offense Code	UCR/NIBRS Code		
Lead? Offense# Se PennDOT Data (if applicable)	ection S Accident Number	ubsection F	PA Statute (Title)	Counts Interstate		Safety Zone	☐ Work Zone		
Statute Description (inc MEDICAID FRAUD AGREEME			•	G OF UNENTITL	ED REIMBUR	SMENT OR PAYMENT	F (1 CONTINUOUS COUNT)		
Acts of the accused associated with this Offense: With Tiffany Farris, agreeing, combining, or conspiring to obtain, or to aid a person other than Jonathan Banks to obtain, a reimbursment or payment for which there was not entitlement. See attached affidavit of Probable Cause, incorporated by reference.									
Inchoate		☐ Solicitation 18 902 A	☐ Conspirat	Ç y	Numb	er of Victims Age	60 or Older		
□ 6 3:		Barbara (Carlos established)	B PA C.S.A.	1	F3	2699			
Lead? Offense# S PennDOT Data (if applicable)	ection S Accident Number	ubsection F	PA Statute (Title)	Counts Interstate		NCIC Offense Code Safety Zone	UCR/NIBRS Code Work Zone		
Statute Description (in THEFT BY DECEPT Acts of the accused as	clude the nan ION - FALSI	E IMPRESSION (1		JS COUN	Γ)		Acceptance with the second sec		
Intentionally obtaining Assistance, by creatin reference.	or withholdin	g the property of an							



				PC	<u> </u>	CRIMINAL	COMPLAIN		
Docket Number:	Date Filed: / /	OTN/LiveScan No	umber	Complair MFI2	nt Numbe 301251		nt Number		
Defendant Name	First: Jonathan	, in the state of	Middle:		Last: Ban	ks			
The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a <i>brief</i> summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.)									
Inchoate	1	Solicitation 18 902 A	⊠ Conspirac 18 903	у	Numi	per of Victims Age	60 or Older		
<u> </u>	922 A(The state of the s	8 PA C.S.A.	1	F3	2699			
Lead? Offense# Some PennDOT Data (if applicable)	ection Subsi Accident Number	ection F	PA Statute (Title)	Counts Interstate	Grade [NCIC Offense Co Safety Zone	de UCR/NIBRS Code ☐ Work Zone		
Statute Description (in THEFT BY DECEPT	clude the name		· ·	V (1 CONT	LINITIOLI	S COUNT)			
Acts of the accused associated with this Offense: Conspiring with Tiffany Farris to commit Theft By Deception - False Impression of at least \$34,849.65. See attached Affidavit of Probable Cause, incorporated by reference.									
Inchoate									
□ 8 49	911 A(1) of the 18	PA C.S.A.	1	F3	2699			
PennDOT Data	Accident	ection PA	A Statute (Title)	Counts Interstate	Grade	NCIC Offense Code Safety Zone	UCR/NIBRS Code Work Zone		
(if applicable) Statute Description (in			ance):		<u></u>		L		
TAMPERING WITH PUBLIC RECORDS OR INFORMATION (1 COUNT) Acts of the accused associated with this Offense: Knowingly causing a false entry to be made in, or false alteration of, a record, document, or thing belonging to, or received or kept by, the government for information or record, or required by law to be kept by others for information of the government, with intent it be taken as genuine. See attached Affidavit of Probable Cause, incorporated by reference.									
Inchoate ☐ Attempt Offense 18 901 A		Solicitation 18 902 A	⊠ Conspira 18 903	cy	Num	ber of Victims Age	60 or Older		
	911 A(E0000000000000000000000000000000000000	PA C.S.A.	1	F3	2699	Monayena a		
Lead? Offense# S PennDOT Data (if applicable)	Accident Subs	section P/	A Statute (Title)	Counts Interstate	Grade	NCIC Offense Code Safety Zone	UCR/NIBRS Code Work Zone		
Statute Description (in TAMPERING WITH				ONSPIRA	.CY (1 C	OUNT)			
Acts of the accused as									
Conspiring with Tiffan Cause, incorporated b		nit Tampering With	n Public Reco	rds or Infor	mation. S	see attached Aft	idavit of Probable		



								COMPLAINT	
Docket Number:	Date Filed:	OTN/LiveScan No	umber	Compla MFI	int Num 23012	ber 5116	Incident	Number	
Defendant Name	First: Jonathan		Middle:		Last: Ba	anks			
The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a <i>brief</i> summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.)									
Inchoate		Solicitation 18 902 A	☐ Conspi 18 903	racy	Nu	Number of Victims Age 60 or Older			
	7512	STANFOLD STANFOLD	8 PA C.S./		F3		2699		
Lead? Offense# S PennDOT Data (if applicable)	ection Sul Accident Number	osection F	PA Statute (Title	Counts Interstate	Grad	Be NCIC C Safety 2	Offense Code Zone	UCR/NIBRS Code Work Zone	
Statute Description (in	clude the name		*	·					
CRIMINAL USE OF Acts of the accused as			TOUNT)					
Using a communication facility to commit, cause, or facilitate the commission or attempt of a crime constituting a felony under the Crimes Code, 18 Pa.C.S. 101, et seq., or the Act of April 14, 1972 (P.L. 233, No. 64). See attached Affidavit of Probable Cause, incorporated by reference.									
Inchoate		Solicitation 18 902 A	⊠ Consp 18 903	iracy	Nı	ımber of Vic	ims Age 60	or Older	
	512	Provided the Control of the Control	PA C.S.A.	1	F3	26			
PennDOT Data	Accident Su Number	bsection PA	Statute (Title)	Counts Interstate	Grade	NCIC Offe ☐ Safety 2		UCR/NIBRS Code Work Zone	
(if applicable) Statute Description (ir	clude the name								
CRIMINAL USE OF			CONSPIR	ACY (1 CO	UNI)	· · · · · · · · · · · · · · · · · · ·			
Conspiring with Tiffan incoprorated by refere	y Farris to com		Communic	ation Facility.	See a	ittached Af	fidavit of F	Probable Cause,	
			" 4		-			104-200100	
Inchoate	1	Solicitation 18 902 A	Consp 18 903	iracy	Ni	umber of Vic	tims Age 60	or Older	
		of the				NOIO 055		HODANIDOS Codo	
Lead? Offense# S PennDOT Data (if applicable)	Section Su Accident Number	bsection PA	A Statute (Title)	Counts Interstate	Grade_	□ Safety	Zone	UCR/NIBRS Code Work Zone	
Statute Description (in		e of statute or ordina	ance):		1			W.	
Acts of the accused a	ssociated with	this Offense:			M			17 - A-1-100 - A	

Docket Number:	Date Filed:	OTN/LiveScan Number		Complaint Number		Incident Number	
	/ /	***************************************		MFI230125116			
	First:		Middle:		Last:		
Defendant Name	Jonathan				Banks		

- 2. I ask that a warrant of arrest or a summons be issued and that the defendant be required to answer the charges I have made.
- 3. I verify that the facts set forth in this complaint are true and correct to the best of my knowledge or information and belief. This verification is made subject to the penalties of Section 4904 of the Crimes Code (18 Pa.C.S. § 4904) relating to unsworn falsification to authorities.
- 4. This complaint consists of the preceding page(s) numbered $\frac{1}{2}$ through $\frac{5}{2}$.
- 5. I certify that this filing complies with the provisions of the Case Records Public Access Policy of the Unified Judicial System of Pennsylvania that require filing confidential information and documents differently than non-confidential information and documents.

The acts committed by the accused, as listed and hereafter, were against the peace and dignity of the Commonwealth of Pennsylvania and were contrary to the Act(s) of the Assembly, or in violation of the statutes cited. (Before a warrant of arrest can be issued, an affidavit of probable cause must be completed, sworn to before the issuing authority, and attached.)

issuing authority, and	attached.)		Λ	
June11	2024		(at	htrnekonner
(Date)	(Year)		(Signatu	ire of Affia(ft)
AND NOW, on this date	11 June 202	I certify th	at the complaint has bee	n properly completed and verified.
An affidavit of probable cau	ise must be completed before	a warrant can be i	ssued.	
CJC		Delah	72	
(Magisterial District Court N	lumber)	(Issuing Authority)		SEAL
				OLAL ()



Docket Number:	Date Filed:	OTN/LiveScan Number	Complaint Number	Incident Number
	/ /			
Defendant Name	First: Jonathan	Middle: Middle	Last: Banks	

AFFIDAVIT of PROBABLE CAUSE

Your Affiant, Catherine Berner, Badge # 916, is a Special Agent with the Pennsylvania Office of Attorney General, Bureau of Criminal Investigations, Medicaid Fraud Control Section, located at 1000 Madison Avenue, Suite 310, Norristown, Pennsylvania 19403.

Your Affiant was assigned to investigate allegations of Medicaid Fraud committed by Tiffany Farris (Farris). The Pennsylvania Office of Attorney General received the initial referral from AmeriHealth Caritas (AmeriHealth) and the Pennsylvania Department of Human Services – Bureau of Program Integrity (BPI). AmeriHealth determined that Farris was potentially working for 22 hours per day as a Personal Care Attendant (PCA) for three consumers – Jonathan Banks (Banks), "C.F.L.", and "C.C." – while also maintaining outside employment. Further investigation revealed that consumer Banks also maintained outside employment during hours he was supposed to be receiving Personal Assistance Services (PAS) from Farris.

Banks was eligible to receive PAS under the Community Health Choices (CHC) Waiver program. The CHC Waiver is a home and community based program that provides a variety of services to eligible individuals. One of the services available under this waiver is PAS assistance with daily living. The CHC Waiver requires Medicaid recipients to select a Managed Care Organization (MCO) to administer their medical and other benefits. PAS agencies submit claims to MCOs, where the claims are reviewed and payments are issued to agencies. Banks's MCO was AmeriHealth.

Banks received PAS through Silver Heart Healthcare Agency (Silver Heart), located at 2407 N Patton St, Philadelphia, PA 19132. Silver Heart utilized an Electronic Visit Verification (EVV) system for employees to document clock in and out information when providing services. Silver Heart used these records to generate Medicaid claims to receive payment from AmeriHealth and to pay its PCAs based on their reported hours.

Your Affiant reviewed documents from Silver Heart, including Banks's consumer file, Farris's employee records, W2s, and EVV data. EVV calendars were used to identify Farris as Banks's assigned PCA and to verify which hours Farris was supposed to be providing PAS to Banks. Your Affiant reviewed records pertaining to Farris's outside employment with Wesley Enhanced Living at Stapeley Hall (Stapeley), located at 6300 Greene St, Philadelphia, PA 19144; Barclay Friends, located at 700 N Franklin St, West Chester, PA 19380; and The Terrace at Chestnut Hill (Terrace), located at 495 E Abington Ave, Philadelphia, PA 19118. Your Affiant also reviewed records pertaining to Banks's outside employment with Wellington at Hershey's Mill (Wellington), located at 1361 Boot Rd, West Chester, PA 19380, and from Terrace.

Your Affiant determined there were numerous PAS claims submitted to Silver Heart for Farris's services to Banks, which Farris could not have rendered due to either her or Banks's outside employment. The spreadsheet Exhibit "A", attached hereto and incorporated herein, details these instances, which amount to at least 1686.75 hours of services not rendered for which Medicaid, through AmeriHealth, paid \$34,272.06.

Your Affiant also reviewed records from the agency First Choice Care Services (First Choice), located at 4312 N 5th St, Philadelphia, PA 19140, which employed Farris as a PCA for consumer C.F.L., and from the agency Golden Age Home Care (Golden Age), located at 600 Washington Ave, Unit 18UB / UD, Philadelphia, PA 19107, which employed Farris as a PCA for consumer C.C. Like Banks, each of these consumers was eligible to receive PAS under the CHC Waiver, and each consumer's services similarly were administered by AmeriHealth.

Your Affiant compared records from Silver Heart, First Choice, and Golden Age, and found overlaps among the PAS hours Farris reported to Silver Heart and Golden Age. The spreadsheet below details these instances, amounting to at least 26.25 hours of overlapping services and \$575.40 in Medicaid claims paid out by AmeriHealth.

A nh



Docket Number:

Date Filed:

OTN/LiveScan Number

Complaint Number

Incident Number

Defendant Name

Middle: Middle

Last: Banks

AFFIDAVIT of PROBABLE CAUSE

Si	ilver Heart			Golden Age	<u> </u>			
Date	Time In	Time Out	Date	Time In	Time Out	Overlap (Rounded)	MCO Hourly	Total
7/11/2022	10:02 AM	4:02 PM	7/11/2022	3:00 PM	11:00 PM	1.00	\$21.92	\$21.92
7/15/2022	10:35 AM	4:35 PM	7/15/2022	3:01 PM	11:00 PM	1.50	\$21.92	\$32.88
7/20/2022	9:19 AM	3:19 PM	7/20/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
8/2/2022	9:16 AM	3:18 PM	8/2/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
8/12/2022	9:16 AM	3:23 PM	8/12/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
8/16/2022	9:31 AM	3:31 PM	8/16/2022	3:00 PM	11:00 PM	0.50	\$21.92	\$10.96
8/22/2022	9:26 AM	3:26 PM	8/22/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
8/23/2022	11:34 AM	5:41 PM	8/23/2022	3:00 PM	11:00 PM	2.50	\$21.92	\$54.80
8/24/2022	9:20 AM	3:20 PM	8/24/2022	3:00 PM	11:01 PM	0,25	\$21.92	\$5.48
9/12/2022	9:16 AM	3:16 PM	9/12/2022	3:00 PM	11:01 PM	0.25	\$21.92	\$5.48
9/27/2022	9:32 AM	3:32 PM	9/27/2022	3:00 PM	11:00 PM	0.50	\$21. 9 2	\$10.96
9/30/2022	9:48 AM	3:48 PM	9/30/2022	3:02 PM	11:01 PM	0.75	\$21.92	\$16.44
10/3/2022	10:33 AM	4:33 PM	10/3/2022	3:00 PM	11:00 PM	1.50	\$21.92	\$32.88
10/18/2022	9:17 AM	3:19 PM	10/18/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
10/20/2022	9:44 AM	3:44 PM	10/20/2022	3:00 PM	11:00 PM	0.50	\$21.92	\$10.96
10/21/2022	9:33 AM	3:33 PM	10/21/2022	3:00 PM	11:00 PM	0.50	\$21.92	\$10.96
10/28/2022	9:15 AM	3:15 PM	10/28/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
11/9/2022	10:17 AM	4:17 PM	11/9/2022	3:00 PM	11:00 PM	1.25	\$21.92	\$27.40
11/16/2022	10:48 AM	4:48 PM	11/16/2022	3:00 PM	11:00 PM	1.75	\$21.92	\$38.36
11/17/2022	10:03 AM	4:03 PM	11/17/2022	3:00 PM	11:00 PM	1.00	\$21.92	\$21.92
11/18/2022	11:19 AM	5:20 PM	11/18/2022	3:00 PM	11:00 PM	2.25	\$21.92	\$49.32
11/21/2022	10:18 AM	4:18 PM	11/21/2022	3:00 PM	11:00 PM	1,25	\$21.92	\$27.40
11/23/2022	10:10 AM	4:10 PM	11/23/2022	3:00 PM	11:00 PM	1.00	\$21.92	\$21.92
11/29/2022	9:19 AM	3:19 PM	11/29/2022	3:00 PM	11:00 PM	0.25	\$21. 9 2	\$5.48
12/9/2022	10:17 AM	4:16 PM	12/9/2022	3:00 PM	11:00 PM	1.25	\$21.92	\$27.40
12/12/2022	9:33 AM	3:33 PM	12/12/2022	3:00 PM	11:00 PM	0.50	\$21.92	\$10.96
12/13/2022	9:20 AM	3:20 PM	12/13/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
12/14/2022	10:41 AM	4:41 PM	12/14/2022	3:00 PM	11:00 PM	1.50	\$21.92	\$32.88
12/15/2022	9:22 AM	3:22 PM	12/15/2022	3:00 PM	11:00 PM	0.25	\$21.92	\$5.48
12/16/2022	9:45 AM	3:45 PM	12/16/2022	3:00 PM	11:00 PM	0.75	\$21.92	\$16.44
12/22/2022	10:02 AM	4:02 PM	12/22/2022	3:00 PM	11:00 PM	1.00	\$21,92	\$21.92
12/26/2022	9:50 AM	3:50 PM	12/26/2022	3:00 PM	11:00 PM	0.75	\$21.92	\$16.44
						26.25		\$575.40

Your Affiant interviewed Banks at his residence on Friday, February 16, 2024. Banks confirmed that he received PAS services through Silver Heart and that Farris was his PCA. Banks stated that he was the one who clocked Farris in and out for her shifts and that Silver Heart only occasionally spoke to Farris to verify that she was there. Your Affiant interviewed Farris at her residence on Tuesday, February 27, 2024. Farris confirmed that she was employed as Banks's PCA through Silver Heart. She also confirmed that she had worked as a PCA for C.F.L. and C.C. She stated that Banks clocked her in and out for her shifts with Silver Heart, but she clocked herself in and out for her First Choice and Golden Age shifts.

POI	

Docket Number:	Date Filed: / /	OTN/LiveScan Number		Complaint Number		Incident Number
Defendant Name	First: Jonathan		Middle: Middle		Last: Banks	

AFFIDAVIT of PROBABLE CAUSE

1, <u>SPECIAL AGENT CATHERINE BERNER</u>, BEING DULY SWORN ACCORDING TO THE LAW, DEPOSE AND SAY THAT THE FACTS SET FORTH IN THE FOREGOING AFFIDAVIT ARE TRUE AND CORRECT TO THE BEST OF MY KNOWLEDGE, INFORMATION AND BELIEF.

I CERTIFY THAT THIS FILING COMPLIES WITH THE PROVISIONS OF THE CASE RECORDS PUBLIC ACCESS POLICY OF THE UNIFIED JUDICIAL SYSTEM OF PENNSYLVANIA THAT REQUIRE FILING CONFIDENTIAL INFORMATION AND DOCUMENTS DIFFERENTLY THAN NON-CONFIDENTIAL INFORMATION AND DOCUMENTS.

	_ att	HounePorner
		(Signature of Affiant)
Sworn to me and subscribed before me this day of	June	2024
Date		_ , Magisterial District Judge
My commission expires first Monday of January, 9/2//2024		
		SEAL

MFI230125116F EXHIBIT A

Exhibit "A"

Silver Heart Outside Employment											
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total			
6/9/2020	9:00 AM	7:00 PM	8:00 AM	2:00 PM	Stapeley (TF)	5.00	\$19.92	\$99.60			
6/10/2020	8:59 AM	6:59 PM	8:00 AM	2:00 PM	Stapeley (TF)	5.00	\$19.92	\$99.60			
6/11/2020	9:00 AM	7:00 PM	3:00 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
6/12/2020	9:09 AM	7:07 PM	3:00 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
6/13/2020	9:10 AM	10:09 PM	3:00 PM	11:00 PM	Stapeley (TF)	7.00	\$19.92	\$139.4			
6/15/2020	8:59 AM	9:01 PM	3:00 PM	11:00 PM	Stapeley (TF)	6.00	\$19.92	\$119.5			
6/17/2020	8:59 AM	7:01 PM	3:06 PM	11:04 PM	Stapeley (TF)	3.75	\$19.92	\$74.70			
6/18/2020	9:00 AM	7:00 PM	2:50 PM	11:03 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
6/19/2020	9:48 AM	7:47 PM	2:53 PM	11:00 PM	Stapeley (TF)	4.75	\$19.92	\$94.62			
6/20/2020	9:10 AM	10:09 PM	3:00 PM	7:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
6/22/2020	9:33 AM	9:32 PM	2:56 PM	11:01 PM	Stapeley (TF)	6.00	\$19.92	\$119.5			
6/23/2020	9:00 AM	6:59 PM	3:11 PM	11:05 PM	Stapeley (TF)	3,75	\$19.92	\$74.70			
6/24/2020	8:59 AM	7:00 PM	3:09 PM	11:02 PM	Stapeley (TF)	3.75	\$19.92	\$74.70			
6/26/2020	9:04 AM	7:04 PM	2:57 PM	11:02 PM	Stapeley (TF)	4.00	\$19,92	\$79.68			
6/27/2020	9:00 AM	10:00 PM	3:08 PM	10:20 PM	Stapeley (TF)	6.75	\$19.92	\$134.4			
6/29/2020	9:00 AM	9:00 PM	4:38 PM	11:00 PM	Stapeley (TF)	4.25	\$19.92	\$84.66			
			3:49 PM	11:02 PM	Wellington (JB)		-				
7/1/2020	10:22 AM	8:24 PM	2:53 PM	11:00 PM	Stapeley (TF)	5.50	\$19.92	\$10 9 .5			
			3:36 PM	11:08 PM	Wellington (JB)		-	,			
7/2/2020	9:00 AM	7:00 PM	2:53 PM	10:55 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
			3:14 PM	11:08 PM	Wellington (JB)	5.75	\$19.92	\$114.5			
7/6/2020	9:01 AM	9:05 PM	4:07 PM	10:59 PM	Stapeley (TF)		-	•			
7/7/2020	8:59 AM	7:01 PM	2:58 PM	11:00 PM	Stapeley (TF)	4,00	\$19.92	\$79.68			
7/8/2020	9:29 AM	7:29 PM	3:04 PM	10:55 PM	Stapeley (TF)	4.25	\$19.92	\$84.66			
			3:26 PM	11:15 PM	Wellington (JB)	6.50	\$19.92	\$129.4			
7/11/2020	9:00 AM	10:01 PM	3:17 PM	3:31 PM	Stapeley (TF)		-				
7/13/2020	9:00 AM	11:51 PM	3:07 PM	11:02 PM	Stapeley (TF)	7.75	\$19.92	\$154.3			
			3:13 PM	11:07 PM	Wellington (JB)		-				
7/15/2020	9:00 AM	7:00 PM	2:37 PM	11:07 PM	Stapeley (TF)	4.25	\$19.92	\$84.66			
			3:08 PM	7:08 AM	Wellington (JB)		T - 1	<u> </u>			
7/16/2020	9:13 AM	7:12 PM	2:56 PM	10:54 PM	Stapeley (TF)	4.25	\$19.92	\$84.66			
			4:04 PM	11:03 PM	Wellington (JB)		-	·			
7/17/2020	9:00 AM	7:00 PM	3:13 PM	11:05 PM	Stapeley (TF)	3.75	\$19.92	\$74.70			
			3:18 PM	11:09 PM	Wellington (JB)		-	·			
7/20/2020	9:00 AM	9:00 PM	2:53 PM	11:14 PM	Stapeley (TF)	6.00	\$19.92	\$119.5			
			3:08 PM	7:01 AM	Wellington (JB)	~	-				
7/21/2020	9:00 AM	7:05 PM	2:55 PM	10:57 PM	Stapeley (TF)	4.00	\$19.92	\$79.6			
			3:22 PM	11:04 PM	Wellington (JB)		-				
7/23/2020	9:00 AM	7:00 PM	2:54 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.6			
	444		3:18 PM	11:04 PM	Wellington (JB)		-				
7/24/2020	11:15 AM	9:14 PM	2:58 PM	11:02 PM	Stapeley (TF)	6.25	\$19.92	\$124.5			
_ /_ /_ /_ /	10.45.55		3:11 PM	11:05 PM	Wellington (JB)	7.75	\$19.92	\$154.3			
7/25/2020	10:10 AM	11:10 PM	2:59 PM	10:58 PM	Stapeley (TF)	1	-				
			2:55 PM	11:05 PM	Wellington (JB)	6.00	\$19.92	\$119.5			
7/27/2020	9:00 AM	9:00 PM	3:33 PM	10:57 PM	Stapeley (TF)		-	-			
			3:22 PM	11:04 PM	Wellington (JB)		-				
7/29/2020	9:20 AM	7:22 PM	2:56 PM	11:00 PM	Stapeley (TF)	4.25	\$19.92	\$84.6			

		Farris (TF)	& Banks (JB) -	Silver Heart/G	Outside Employment O	verlap		
	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
			3:50 PM	11:08 PM	Wellington (JB)		-	
7/30/2020	9:02 AM	7:02 PM	3:39 PM	10:58 PM	Stapeley (TF)	3.25	\$19.92	\$64.74
7/31/2020	9:08 AM	7:09 PM	3:22 PM	11:02 PM	Wellington (JB)	3.75	\$19.92	\$74.70
8/3/2020	9:01 AM	9:01 PM	3:07 PM	10:56 PM	Stapeley (TF)	5.75	\$19.92	\$114.54
			3:12 PM	7:10 AM	Wellington (JB)	3.75	\$19.92	\$74.70
8/4/2020	9:04 AM	7:04 PM	3:20 PM	11:01 PM	Stapeley (TF)		-	
			3:17 PM	11:07 PM	Wellington (JB)		-	
8/5/2020	9:01 AM	7:01 PM	2:54 PM	10:58 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
8/6/2020	9:08 AM	7:08 PM	3:25 PM	11:04 PM	Wellington (JB)	3.50	\$19.92	\$69.72
			3:12 PM	11:02 PM	Wellington (JB)		-	
8/7/2020	9:00 AM	7:00 PM	3:00 PM	11:03 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:14 PM	11:04 PM	Wellington (JB)	6.75	\$19.92	\$134.46
8/8/2020	9:04 AM	10:04 PM	2:58 PM	9:31 PM	Stapeley (TF)		-	
			3:19 PM	7:01 AM	Wellington (JB)		-	
8/10/2020	9:00 AM	9:00 PM	2:53 PM	11:02 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
8/12/2020	9:00 AM	7:01 PM	3:11 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
0,12,2020	3.007		3:08 PM	11:13 PM	Wellington (JB)		-	
8/13/2020	8:59 AM	7:00 PM	2:55 PM	11:04 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:37 PM	10:30 PM	Wellington (JB)		-	
8/14/2020	9:23 AM	7:23 PM	3:00 PM	10:58 PM	Stapeley (TF)	4.25	\$19.92	\$84.66
	<u> </u>		3:46 PM	11:04 PM	Wellington (JB)			
8/17/2020	9:00 AM	9:01 PM	2:54 PM	10:58 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
			3:21 PM	11:08 PM	Wellington (JB)	1		7
8/18/2020	9:10 AM	7:09 PM	2:55 PM	11:04 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:11 PM	11:11 PM	Wellington (JB)			
8/19/2020	9:01 AM	7:00 PM	2:52 PM	10:56 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
		<u> </u>	3:17 PM	11:25 PM	Wellington (JB)		_	· · · · · · · · · · · · · · · · · · ·
8/21/2020	9:11 AM	7:10 PM	3:09 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:10 PM	11:05 PM	Wellington (JB)		-	
8/22/2020	9:32 AM	10:31 PM	2:48 PM	11:03 PM	Stapeley (TF)	7.50	\$19.92	\$149.40
	-	+	4:09 PM	11:09 PM	Wellington (JB)		-	*
8/24/2020	9:23 AM	9:22 PM	3:38 PM	11:01 PM	Stapeley (TF)	5.50	\$19.92	\$109.56
			3:12 PM	11:07 PM	Wellington (JB)		-	*
8/26/2020	9:25 AM	7:25 PM	2:54 PM	11:03 PM	Stapeley (TF)	4.50	\$19.92	\$89.64
			3:24 PM	11:07 PM	Wellington (JB)	1		
8/27/2020	9:32 AM	7:32 PM	2:53 PM	11:02 PM	Stapeley (TF)	4.50	\$19,92	\$89.64
	-		3:14 PM	11:01 PM	Wellington (JB)			7-2-1-7
8/28/2020	9:00 AM	7:00 PM	3:12 PM	7:00 AM	Stapeley (TF)	3.75	\$19.92	\$74.70
			3:07 PM	11:08 PM	Wellington (JB)	1 3.73	-	7
8/31/2020	9:00 AM	9:01 PM	2:54 PM	11:05 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
			3:01 PM	11:12 PM	Wellington (JB)	4.00	\$19.92	\$79.68
9/1/2020	9:07 AM	7:07 PM	3:09 PM	11:01 PM	Stapeley (TF)		-	
9/2/2020	9:00 AM	7:00 PM	3:16 PM	10:59 PM	Stapeley (TF)	3.50	\$19.92	\$69.72
9/3/2020	9:00 AM	7:00 PM	3:02 PM	11:02 PM	Wellington (JB)	3.75	\$19.92	\$74.70
3/3/2020	J.JU AIVI	7,001.141	3:09 PM	11:10 PM	Wellington (JB)	3.75	\$19.92	\$74.70
9/4/2020	9:04 AM	7:03 PM	3:35 PM	10:33 PM	Stapeley (TF)	3.,3	-	+,,
	-		2:59 PM	11:08 PM	Wellington (JB)	7.00	\$19.92	\$139.44
9/5/2020	9:00 AM	10:02 PM	3:07 PM	10:31 PM	Stapeley (TF)	,,,,,	7.20.04	

Silver Heart Outside Employment											
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total			
Date	Time III	Time out	3:10 PM	11:10 PM	Wellington (JB)	Otchop	-	10101			
9/7/2020	9:00 AM	9:02 PM	2:56 PM	11:01 PM	Stapeley (TF)	6.00	\$19.92	\$119.52			
			3:01 PM	11:05 PM	Wellington (JB)	4,50	\$19.92	\$89.64			
9/9/2020	9:39 AM	7:40 PM	3:11 PM	11:00 PM	Stapeley (TF)	1,50	-	\$ 05.5.			
			3:10 PM	11:12 PM	Weilington (JB)						
9/10/2020	9:01 AM	7:05 PM	2:52 PM	11:12 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
		1	3:09 PM	11:07 PM	Wellington (JB)	3.75	\$19.92	\$74.70			
9/11/2020	9:00 AM	7:00 PM	3:09 PM	10:26 PM	Stapeley (TF)	1,75	-	<i>¥7 4</i>			
			3:09 PM	11:10 PM	Wellington (JB)		_				
9/14/2020	9:02 AM	9:01 PM	2:56 PM	10:58 PM	Stapeley (TF)	6.00	\$19.92	\$119.52			
			2:59 PM	11:07 PM	Weilington (iB)	0.00	725.52	Ÿ 223.52			
9/15/2020	9:00 AM	7:00 PM	2:58 PM	11:04 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
9/16/2020	9:00 AM	7:00 PM	3:07 PM	11:02 PM	Stapeley (TF)	3.75	\$19.92	\$74.70			
9/17/2020	9:02 AM	7:03 PM	3:01 PM	11:01 PM	Wellington (JB)	4.00	\$19.92	\$79.68			
3/11/2020	3.02 AIV	7.03 . 141	3:08 PM	11:31 PM	Wellington (JB)	3.75	\$19.92	\$74.70			
9/18/2020	9:00 AM	7:07 PM	3:09 PM	11:10 PM	Stapeley (TF)	3.73	715.52	φ			
			4:05 PM	11:12 PM	Wellington (JB)	5.75	\$19.92	\$114.54			
9/19/2020	9:03 AM	10:03 PM	4:14 PM	11:01 PM	Stapeley (TF)	3173	913.34	411 5			
9/21/2020	9:04 AM	9:03 PM	3:09 PM	11:03 PM	Wellington (JB)	5,75	\$19.92	\$114.54			
3/21/2020	3.04 AIVI	3.03 / 101	3:07 PM	11:04 PM	Wellington (JB)	1 3,73	7.23.32	711110			
9/23/2020	9:00 AM	7:00 PM	3:03 PM	11:03 PM	Stapeley (TF)	3.75	\$19.92	\$74.70			
			3:03 PM	11:07 PM	Wellington (JB)	1 3.73	74.7.2	Ψ, π., υ			
9/24/2020	9:09 AM	7:08 PM	2:59 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68			
			3:28 PM	11:07 PM	Wellington (JB)	7.00	, y13.32	473.00			
9/25/2020	9:32 AM	7:31 PM	3:00 PM	11:02 PM	Stapeley (TF)	4.50	\$19.92	\$89.64			
			3:11 PM	11:07 PM	Wellington (JB)	1.55	723.32	4 00.01			
9/28/2020	8:57 AM	8:57 PM	3:08 PM	11:01 PM	Stapeley (TF)	5.75	\$19.92	\$114.54			
			3:09 PM	11:15 PM	Wellington (JB)	4.00	\$19.92	\$79.68			
9/29/2020	9:07 AM	7:10 PM	4:00 PM	11:03 PM	Stapeley (TF)	1.00	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	4,0,44			
9/30/2020	9:01 AM	7:03 PM	3:05 PM	11:00 PM	Stapeley (TF)	3.75	\$19.92	\$74,70			
3/30/2020	3,017(1)	7.001744	4:09 PM	7:00 AM	Wellington (JB)	+	723,02	#7.117			
10/1/2020	9:00 AM	7:00 PM	3:08 PM	11:02 PM	Stapeley (TF)	3.75	\$19.92	\$74.70			
			3:29 PM	11:04 PM	Wellington (JB)	1 3,,0	713.32	T, 1174			
10/2/2020	9:00 AM	7:00 PM	3:19 PM	11:03 PM	Stapeley (TF)	3.50	\$19.92	\$69.72			
			3:29 PM	11:02 PM	Wellington (JB)	5,54	723.02	70-11-			
10/3/2020	9:06 AM	10:08 PM	3:00 PM	11:00 PM	Stapeley (TF)	7.00	\$19.92	\$139.4			
		-	3:02 PM	11:01 PM	Wellington (JB)	5.75	\$19.92	\$114.5			
10/5/2020	9:01. AM	9:01 PM	3:02 PM	11:05 PM	Stapeley (TF)			<i>+</i> ···			
			3:10 PM	11:06 PM	Wellington (JB)	3.75	\$19,92	\$74.70			
10/7/2020	8:59 AM	7:00 PM	3:11 PM	10:59 PM	Stapeley (TF)		771	÷			
			3:09 PM	11:04 PM	Wellington (JB)	1	_				
10/8/2020	9:02 AM	7:01 PM	3:08 PM	10:57 PM	Stapeley (TF)	3,75	\$19.92	\$74.70			
			3:02 PM	11:01 PM	Wellington (JB)	3.75	\$19.92	\$74.70			
10/9/2020	9:00 AM	7:01 PM	3:02 PM	11:05 PM	Stapeley (TF)	1 3.73	~ · · · · · · · · · · · · · · · · · · ·	φ. π. / C			
	-		3:16 PM	11:13 PM	Wellington (JB)	7.75	\$19.92	\$154.3			
10/10/2020	11:29 AM	12:04 AM	3:35 PM	9:09 PM	Stapeley (TF)	1,5	713.32	¥234.3			
10/12/2020	9:00 AM	9:00 PM	3:15 PM	11:07 PM	Wellington (JB)	5.75	\$19.92	\$114.54			
10/13/2020	10:54 AM	8:54 PM	3:09 PM	11:06 PM	Wellington (JB)	5.75	\$19.92	\$114.54			

Silver Heart Outside Employment												
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total				
10/15/2020	9:00 AM	7:02 PM	3:17 PM	11:01 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
10/16/2020	9:04 AM	7:03 PM	3:01 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
			3:15 PM	11:08 PM	Wellington (JB)		_					
10/17/2020	9:11 AM	10:11 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	7.00	\$19.92	\$139.44				
	<u> </u>		2:14 PM	11:05 PM	Wellington (JB)	7.75	\$19.92	\$154.38				
10/19/2020	10:12 AM	10:12 PM	3:00 PM	11:00 PM	Barclay Friends (TF)		-					
10/21/2020	9:19 AM	7:20 PM	3:14 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
			2:55 PM	11:01 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
10/22/2020	9:00 AM	7:01 PM	3:00 PM	11:00 PM	Barclay Friends (TF)		-					
			3:15 PM	11:28 PM	Wellington (JB)		-					
10/23/2020	9:04 AM	7:09 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
			3:18 PM	11:05 PM	Wellington (JB)		-					
10/26/2020	9:00 AM	9:02 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	6.00	\$19.92	\$119.52				
			3:05 PM	11:09 PM	Wellington (JB)		_					
10/27/2020	9:42 AM	7:44 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.50	\$19.92	\$89.64				
			2:59 PM	11:05 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
10/29/2020	9:00 AM	7:00 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	1	-	,				
			3:04 PM	11:01 PM	Wellington (JB)	,						
10/30/2020	9:00 AM	7:00 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
10/31/2020	9:00 AM	10:00 PM	2:59 PM	11:01 PM	Wellington (JB)	7.00	\$19.92	\$139.4				
11/2/2020	9:30 AM	9:30 PM	3:00 PM	11:03 PM	Wellington (JB)	6.50	\$19.92	\$129.4				
11/4/2020	9:10 AM	7:12 PM	3:40 PM	11:04 PM	Wellington (JB)	3.50	\$19.92	\$69.72				
11/5/2020	9:41 AM	7:41 PM	3:06 PM	11:00 PM	Wellington (JB)	4.50	\$19.92	\$89.64				
11/3/2020	3,41 AW	7.41 110	3:02 PM	10:43 PM	Wellington (JB)	1130						
11/6/2020	9:07 AM	7:09 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
	1		3:06 PM	11:04 PM	Wellington (JB)	5.75	\$19.92	\$114.5				
11/9/2020	9:00 AM	9:00 PM	3:30 PM	11:00 PM	Barclay Friends (TF)	1	-	, · · -				
11/10/2020	9:05 AM	7:06 PM	2:59 PM	11:10 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
11/10/2020	9:07 AM	7:06 PM	3:13 PM	10:58 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
11/13/2020	9:02 AM	7:00 PM	3:05 PM	11:00 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
11/13/2020	3.02 AIVI		2:58 PM	7:09 AM	Wellington (JB)	0.,0	-					
11/14/2020	9:02 AM	10:03 PM	7:55 AM	9:51 PM	Barclay Friends (TF)	12.75	\$19.92	\$253.9				
			2:53 PM	11:04 PM	Wellington (JB)	6.00	\$19.92	\$119.5				
11/16/2020	9:02 AM	9:02 PM	3:05 PM	11:07 PM	Barclay Friends (TF)	3,00	315.52	T				
11/30/2020	9:29 AM	9:34 PM	3:29 PM	11:23 PM	Wellington (JB)	6.00	\$19.92	\$119.5				
11/30/2020	3.43 AIVI	3.3+FIVI	2:57 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
12/1/2020	9:01 AM	7:00 PM	3:06 PM	11:02 PM	Barclay Friends (TF)	1	-	7.5.0				
		1	3:03 PM	11:03 PM	Wellington (JB)		 _ 					
12/2/2020	8:59 AM	7:00 PM	3:05 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.6				
12/2/2020	10:09 AM	8:09 PM	4:23 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
12/3/2020	TO:02 AIM	0.03 FIVI	2:53 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
12/4/2020	9:03 AM	7:05 PM	3:03 PM	11:14 PM	Barclay Friends (TF)	7.00		Q. 3.00				
			4:28 PM	11:19 PM	Wellington (JB)							
12/7/2020	9:57 AM	9:57 PM		i		6.75	\$19.92	\$134.4				
			3:10 PM	11:08 PM	Barclay Friends (TF) Wellington (JB)	6.75 6.75	\$19.92	\$134.4				
12/8/2020	11:46 AM	9:46 PM	2:58 PM	11:04 PM		0.73		4.4ct				
			3:12 PM	11:10 PM	Barclay Friends (TF)	+	-					
12/10/2020	9:01 AM	7:01 AM	5:00 PM 9:22 AM	11:03 PM 11:14 PM	Wellington (JB) Barclay Friends (TF)	9.50	\$19.92	\$189.2				

	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
42/14/2020	0.03 414	7.00 004	2:56 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$7 9 .68
12/11/2020	9:03 AM	7:06 PM	3:07 PM	11:08 PM	Barclay Friends (TF)		-	
12/12/2020	O.1E ANA	10.15 DN4	3:15 PM	11:00 PM	Wellington (JB)		-	
12/12/2020	9:15 AM	10:15 PM	3:01 PM	6:33 AM	Barclay Friends (TF)	7.00	\$19.92	\$139.44
12/14/2020	9:14 AM	9:14 PM	3:28 PM	11:04 PM	Wellington (JB)	5.75	\$19.92	\$114.54
12/15/2020	9:02 AM	7:03 PM	3:04 PM	11:06 PM	Barclay Friends (TF)	3.75	\$19.92	\$74.70
12/16/2020	0.02 414	7.03 044	3:16 PM	10:53 PM	Wellington (JB)	3.75	\$19.92	\$74.70
12/16/2020	9:03 AM	7:03 PM	3:42 PM	10:07 PM	Barclay Friends (TF)		-	
12/17/2020	0.01 444	7,02,04	2:56 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
12/17/2020	9:01 AM	7:02 PM	3:07 PM	10:34 PM	Barclay Friends (TF)		-	
42/10/2020	0.00 414	7.00 014	2:56 PM	4:32 AM	Wellington (JB)		-	
12/18/2020	9:00 AM	7:00 PM	9:40 AM	11:00 PM	Barclay Friends (TF)	9.25	\$19.92	\$184.26
12/22/2020	0,20,444	7.21 086	2:54 PM	11:14 PM	Weilington (JB)	4.50	\$19.92	\$89.64
12/22/2020	9:26 AM	7:31 PM	2:59 PM	11:12 PM	Barclay Friends (TF)		-	
12/22/2020	8:59 AM	6:59 PM	4:32 PM	11:08 PM	Wellington (JB)		-	
12/23/2020	IVIA EC;8	0:33 FIVI	2:49 PM	11:19 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68
42/24/2020	0.01 414	7,02 PM	3:09 PM	10:47 PM	Wellington (JB)	3.75	\$19.92	\$74.70
12/24/2020	9:01 AM	7:02 PM	3:44 PM	10:01 PM	Barclay Friends (TF)		-	
12/25/2020	10.02.484	8:02 PM	10:17 AM	11:06 PM	Wellington (JB)	9.75	\$19.92	\$194.22
12/25/2020	10:02 AM	8:02 PIVI	10:21 AM	11:11 PM	Barclay Friends (TF)		•	
12/20/2020	0.13.414	10.11 004	3:02 PM	11:02 PM	Wellington (JB)	7.00	\$19.92	\$139.44
12/26/2020	9:12 AM	10:11 PM	3:08 PM	11:11 PM	Barclay Friends (TF)		-	
12/28/2020	9:03 AM	7:00 PM	3:01 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
47/20/2020	0.00 AM	6:59 PM	3:33 PM	11:02 PM	Weilington (JB)	3.25	\$19.92	\$64.74
12/29/2020	9:00 AM	0,33 FIVI	3:42 PM	11:08 PM	Barclay Friends (TF)		_	
11/20/2020	9:00 AM	7:00 PM	2:54 PM	11:00 PM	Wellington (JB)	4.00	\$19.92	\$79.68
12/30/2020	9:00 AIVI	7:00 PW	3:01 PM	11:00 PM	Barclay Friends (TF)		-	
12/31/2020	9:00 AM	7:38 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4,50	\$19.92	\$89.64
1/1/2021	9:00 AM	7:00 PM	2:54 PM	11:06 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/1/2021	3.00 AIVI	7.00 FW	3:00 PM	11:00 PM	Barclay Friends (TF)		-	
1/4/2021	9:09 AM	9:08 PM	2:56 PM	11:06 PM	Wellington (JB)		-	
1/4/2021	J.UJ AIVI	3.03 FW	8:22 AM	11:29 PM	Barclay Friends (TF)	11.75	\$19.92	\$234.06
1/5/2021	9:00 AM	7:06 PM	3:04 PM	11:08 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/3/2021	5.00 AW	7,00 FIVI	3:12 PM	11:27 PM	Barclay Friends (TF)		-	
1/6/2021	9:00 AM	7:27 PM	9:30 AM	11:11 PM	Barclay Friends (TF)	9.75	\$19.92	\$194.22
1/7/2021	9:00 AM	7:02 PM	4:30 PM	11:00 PM	Wellington (JB)	2.50	\$19.92	\$49.80
1/8/2021	9:00 AM	7:01 PM	2:54 PM	11:07 PM	Wellington (JB)		-	
1/8/2021	9:00 AIVI	7.Q1 PIVI	8:13 AM	11:10 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.20
1/0/2021	10:12 004	10.00 04	3:01 PM	11:03 PM	Wellington (JB)	6.75	\$19.92	\$134.40
1/9/2021	10:13 AM	10:00 PM	3:08 PM	11:10 PM	Barclay Friends (TF)		-	
1/11/2021	10:16 AM	10:23 PM	3:02 PM	11:13 PM	Wellington (JB)	7.25	\$19.92	\$144.4
1/12/2021	0.00 414	7.05 DM	2:55 PM	11:06 PM	Wellington (JB)		-	
1/12/2021	9:00 AM	7:05 PM	2:53 PM	11:11 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68
1 /42 /2024	0.02 454	7,01 084	2:54 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/13/2021	9:02 AM	7:01 PM	3:01 PM	11:13 PM	Barclay Friends (TF)		-	
4 14 4 10 004	0.03.444	7.02.044	3:11 PM	11:08 PM	Wellington (JB)	3.75	\$19.92	\$74.70
1/14/2021	9:03 AM	7:02 PM	3:19 PM	11:11 PM	Barclay Friends (TF)		-	

	Silver	Heart	Outside Em	ployment			· · · · · · · · · · · · · · · · · · ·	
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
1/18/2021	9:03 AM	9:03 PM	2:54 PM	11:04 PM	Wellington (JB)	6.00	\$19.92	\$119.52
1/16/2021	3.03 AIVI	J.03 W	3:03 PM	11:07 PM	Barclay Friends (TF)		-	
1/19/2021	9:01 AM	7:01 PM	3:10 PM	11:00 PM	Wellington (JB)	3.75	\$19.92	\$74.70
1/13/2021	3.01 AW	7.0.2.1101	3:19 PM	11:06 PM	Barclay Friends (TF)		-	
1/20/2021	9:02 AM	7:02 PM	3:06 PM	11:06 PM	Barclay Friends (TF)	3.75	\$19.92	\$74.70
1/21/2021	9:23 AM	7:23 PM	3:00 PM	11:01 PM	Wellington (JB)	4.25	\$19.92	\$84.66
1/21/2021	J.23 AIVI	7.23 141	3:08 PM	10:37 PM	Barclay Friends (TF)		-	
1/22/2021	11:10 AM	9:09 PM	8:00 AM	11:04 PM	Wellington (JB)	9.75	\$19.92	\$194.2
1/22/2021	11.10 (10)	5,05 (101	8:09 AM	11:09 PM	Barclay Friends (TF)		-	
1/25/2021	9:01 AM	9:01 PM	3:04 PM	11:02 PM	Wellington (JB)	5.75	\$19.92	\$114.5
1/26/2021	9:08 AM	7:08 PM	3:03 PM	11:06 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/20/2021	3.00 AIVI	7.08 1 101	3:12 PM	9:56 PM	Barclay Friends (TF)		-	
1/27/2021	9:15 AM	7:15 PM	3:03 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/2//2021	3.13 AIVI	7.13 1 (V)	3:11 PM	11:17 PM	Barclay Friends (TF)		-	
1/28/2021	9:01 AM	7:01 PM	3:05 PM	11:01 PM	Wellington (JB)	3.75	\$19.92	\$74.70
1/20/2021	3,01 AW	7.01 FW	3:14 PM	11:11 PM	Barclay Friends (TF)		-	
1/29/2021	9:46 AM	7:51 PM	3:26 PM	11:05 PM	Wellington (JB)	4.25	\$19.92	\$84.66
1/23/2021	3,40 AIVI	7.31 FIVE	3:36 PM	11:11 PM	Barclay Friends (TF)		_	
2/1/2021	9:29 AM	9:29 PM	3:57 PM	10:48 PM	Wellington (JB)	5.50	\$19.92	\$109.5
2/1/2021	3.23 AIVI	3.23 101	4:09 PM	10:26 PM	Barclay Friends (TF)		-	
2/2/2021	9:02 AM	7:04 PM	3:10 PM	11:09 PM	Wellington (JB)		-	
2/2/2021	9.02 AW	7.04 (10)	7:04 AM	11:17 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.2
2/3/2021	9:00 AM	7:00 PM	3:23 PM	11:00 PM	Barclay Friends (TF)	3.50	\$19.92	\$69.72
2/4/2021	9:12 AM	7:15 PM	3:09 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/4/2021	3.12 AW	71231141	3:20 PM	11:08 PM	Barclay Friends (TF)		-	
2/5/2021	9:07 AM	7:07 PM	3:10 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
2/3/2021	3.07 AIVI	7.07 1101	3:20 PM	11:06 PM	Barclay Friends (TF)		-	
2/6/2021	9:01 AM	10:01 PM	2:59 PM	6:59 AM	Wellington (JB)		-	
2/0/2021	3.04 AW		8:07 AM	10:57 PM	Barclay Friends (TF)	13.00	\$19.92	\$258.9
2/9/2021	9:14 AM	7:14 PM	1:47 PM	11:11 PM	Barclay Friends (TF)	5.25	\$19.92	\$104.5
2/10/2021	9:03 AM	7:06 PM	3:01 PM	11:05 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/10/2021	3.03 7.141	7.007101	3:10 PM	10:57 PM	Barclay Friends (TF)		-	
2/11/2021	9:10 AM	7:10 PM	3:08 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/11/2021	3.10 AW	7.1.0 (10)	3:16 PM	11:11 PM	Barclay Friends (TF)		-	
2/12/2021	9:20 AM	7:22 PM	3:26 PM	11:00 PM	Wellington (JB)		-	
2/12/2021	3.20 AW	7.221101	3:00 PM	11:00 PM	Barclay Friends (TF)	4.25	\$19.92	\$84.60
2/13/2021	9:13 AM	10:12 PM	9:47 PM	7:08 AM	Barclay Friends (TF)	0.25	\$19.92	\$4.98
2/15/2021	9:07 AM	9:06 PM	3:12 PM	11:03 PM	Wellington (JB)	5.75	\$19.92	\$114.5
7/ T7/ 404 T	J.07 AIVI	2,00 FIM	3:21 PM	11:07 PM	Barclay Friends (TF)		-	
2/16/2021	9:02 AM	7:02 PM	3:06 PM	11:04 PM	Wellington (JB)	3.75	\$19.92	\$74.70
T/ TO/ 4041	J.02 AIVI	7.04 F W	3:15 PM	11:09 PM	Barclay Friends (TF)		-	
2/17/2021	9:00 AM	7:00 PM	3:11 PM	11:02 PM	Wellington (JB)	3.75	\$19,92	\$74.70
2/17/2021	3:00 AIVI	7,00 PIVI	3:21 PM	11:11 PM	Barclay Friends (TF)		•	
2/10/2021	11.70 454	7:20 PM	3:16 PM	11:00 PM	Wellington (JB)	6,00	\$19.92	\$119.5
2/18/2021	11:20 AM	7.20 PIVI	3:24 PM	11:13 PM	Barclay Friends (TF)		-	
2/10/2021	0.00 444	7,00 044	3:08 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
2/19/2021	9:00 AM	7:00 PM	3:17 PM	11:18 PM	Barclay Friends (TF)		-	

	Silver		Outside Em		Outside Employment Ov			·
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
Date	, , , , , , , , , , , , , , , , , , ,		3:06 PM	11:04 PM	Wellington (JB)	6.75	\$19.92	\$134.46
2/20/2021	9:01 AM	10:03 PM	3:14 PM	11:12 PM	Barclay Friends (TF)		-	•
2/22/2021	9:01 AM	9:01 PM	4:47 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/23/2021	9:00 AM	7:06 PM	5:18 PM	11:07 PM	Barclay Friends (TF)	1.75	\$19.92	\$34.86
2,23,2021	3,007,101	7.001101	4:29 PM	11:03 PM	Wellington (JB)		-	,
2/24/2021	9:19 AM	7:20 PM	3:02 PM	11:11 PM	Barclay Friends (TF)	4.25	\$19.92	\$84.66
			3:19 PM	11:07 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/25/2021	9:28 AM	7:26 PM	3:31 PM	11:06 PM	Barclay Friends (TF)		, , , , ,	******
			3:44 PM	11:04 PM	Wellington (JB)		-	
2/26/2021	9:02 AM	7:04 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68
			3:42 PM	11:05 PM	Wellington (JB)	5.25	\$19.92	\$104.58
3/1/2021	9:06 AM	9:06 PM	3:54 PM	11:03 PM	Barclay Friends (TF)	3.23	715.52	7104.50
			3:21 PM	11:05 PM	Wellington (JB)	3.50	\$19.92	\$69.72
3/2/2021	9:01 AM	7:03 PM		11:05 PM	Barclay Friends (TF)	3.30	, J.J.J.	703.72
			3:32 PM 3:10 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68
3/3/2021	9:18 AM	7:18 PM			- · · ·	4.00	\$15.52	۵۵،۵۲
			3:22 PM	11:05 PM	Barclay Friends (TF)	2 75	¢10.02	\$74.70
3/4/2021	9:00 AM	7:01 PM	3:06 PM	7:02 AM	Wellington (JB)	3.75	\$19.92	\$/ 4 ./U
•			3:31 PM	7:12 AM	Barclay Friends (TF)	2.75	610.02	\$74.70
3/5/2021	12:00 AM	7:05 PM	3:20 PM	7:04 AM	Wellington (JB)	3.75	\$19.92	3/4./0
			3:29 PM	7:06 AM	Barclay Friends (TF)	7 75	610.00	¢154.20
3/6/2021	10:08 AM	11:08 PM	3:10 PM	11:02 PM	Wellington (JB)	7.75	\$19.92	\$154.3
, ,			3:40 PM	10:59 PM	Barclay Friends (TF)		440.00	A455 F
3/8/2021	9:01 AM	9:00 PM	3:28 PM	11:03 PM	Wellington (JB)	5.50	\$19.92	\$109.5
			3:42 PM	11:07 PM	Barclay Friends (TF)		440.00	400.04
3/9/2021	9:35 AM	7:36 PM	3:04 PM	11:02 PM	Wellington (JB)	4.50	\$19.92	\$89.64
			3:15 PM	11:02 PM	Barclay Friends (TF)			4747
3/10/2021	9:02 AM	7:08 PM	3:20 PM	11:10 PM	Wellington (JB)	3.75	\$19.92	\$74.70
			3:31 PM	11:13 PM	Barclay Friends (TF)			****
3/11/2021	9:52 AM	7:52 PM	3:05 PM	11:04 PM	Wellington (JB)	4.75	\$19.92	\$94.62
			3:17 PM	11:06 PM	Barclay Friends (TF)		-	1
3/12/2021	9:14 AM	7:14 PM	3:11 PM	11:03 PM	Weilington (JB)	4.00	\$19.92	\$79.68
	3	772777	3:23 PM	11:07 PM	Barclay Friends (TF)		<u> </u>	
3/15/2021	9:04 AM	9:09 PM	2:55 PM	11:01 PM	Wellington (JB)	6.00	\$19.92	\$119.5
	3.377,1171		2:56 PM	11:15 PM	Barclay Friends (TF)		-	1
3/16/2021	9:00 AM	7:01 PM	3:03 PM	11:04 PM	Wellington (JB)	3.75	\$19.92	\$74.70
3/10/2021	3.007.117	7.02111	3:35 PM	11:04 PM	Barclay Friends (TF)			<u> </u>
3/17/2021	9:00 AM	7:00 PM	3:49 PM	11:03 PM	Wellington (JB)	3.00	\$19.92	\$59.76
3/1//2021	3,007,11	7100 1 141	3:59 PM	11:09 PM	Barclay Friends (TF)		-	
3/18/2021	9:38 AM	7:38 PM	3:12 PM	11:04 PM	Wellington (JB)	4.25	\$19.92	\$84.66
J 10 2021	2,36 AIV	7 100 t titt	3:22 PM	11:05 PM	Barclay Friends (TF)		-	
3/20/2021	9:00 AM	10:04 PM	5:20 PM	7:03 AM	Wellington (JB)		-	
J, 20, 2021	J,00 AIVI	10.07 FIVE	3:00 PM	7:00 AM	Barclay Friends (TF)	7.00	\$19.92	\$139.4
2/22/2021	Q.EO ANA	8:59 PM	3:39 PM	11:03 PM	Wellington (JB)	5.25	\$19.92	\$104.5
3/22/2021	8:59 AM	9.J3 FIVI	3:55 PM	11:05 PM	Barclay Friends (TF)		-	
2/25/2024	0,00 444	7:03 PM	3:46 PM	11:01 PM	Wellington (JB)		-	***************************************
3/25/2021	9:00 AM	/;U3 P(VI	3:36 PM	7:27 AM	Barclay Friends (TF)	3.25	\$19.92	\$64.74
2/20/2021	0.03.444	7,01 014	4:29 PM	11:07 PM	Wellington (JB)	2.50	\$19.92	\$49.80
3/26/2021	9:02 AM	7:01 PM	4:41 PM	11:04 PM	Barclay Friends (TF)		-	l

Silver Heart Outside Employment												
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Totai				
			3:14 PM	11:02 PM	Wellington (JB)	5.75	\$19.92	\$114.54				
3/29/2021	8:59 AM	9:01 PM	3:23 PM	11:14 PM	Barclay Friends (TF)		-	•				
			3:12 PM	11:04 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
3/30/2021	9:00 AM	7:00 PM	3:23 PM	11:12 PM	Barclay Friends (TF)							
* ***			3:14 PM	10:40 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
3/31/2021	9:01 AM	7:01 PM	3:24 PM	11:00 PM	Barclay Friends (TF)		-					
			3:07 PM	7:05 AM	Wellington (JB)	3.75	\$19.92	\$74.70				
4/1/2021	9:00 AM	7:03 PM	3:18 PM	7:05 AM	Barclay Friends (TF)		'-					
			3:22 PM	11:02 PM	Wellington (JB)	3.50	\$19.92	\$69.72				
4/2/2021	8:59 AM	7:00 PM	3:33 PM	11:23 PM	Barclay Friends (TF)							
			2:54 PM	11:00 PM	Wellington (JB)		-					
4/3/2021	9:22 AM	10:22 PM	8:13 AM	11:01 PM	Barclay Friends (TF)	13.00	\$19.92	\$258.96				
4/5/2021	9:52 AM	9:58 PM	4:40 PM	11:02 PM	Wellington (JB)	5.25	\$19.92	\$104.58				
			2:56 PM	11:00 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
4/6/2021	9:02 AM	7:01 PM	3:00 PM	11:35 PM	Barclay Friends (TF)			,				
			3:00 PM	11:00 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
4/7/2021	9:04 AM	7:03 PM	3:10 PM	11:04 PM	Barclay Friends (TF)		_	·				
			2:57 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
4/8/2021	8:59 AM	6:59 PM	3:05 PM	11:08 PM	Barclay Friends (TF)		_	·				
			3:28 PM	11:01 PM	Wellington (JB)		-					
4/9/2021	9:03 AM	7:03 PM	3:00 PM	11:05 PM	Barclay Friends (TF)	4.00	\$19.92	\$7 9 .68				
	1		3:17 PM	11:04 PM	Wellington (JB)	5.75	\$19.92	\$114.5				
4/12/2021	9:13 AM	9:13 PM	3:27 PM	11:07 PM	Barclay Friends (TF)			,				
4/13/2021	9:16 AM	7:16 PM	5:14 PM	11:03 PM	Wellington (JB)	2.00	\$19.92	\$39.84				
-,15,2022	3.107.11	713.01141	3:48 PM	11:01 PM	Wellington (JB)	3.50	\$19.92	\$69.72				
4/14/2021	9:26 AM	7:25 PM	3:59 PM	11:08 PM	Barclay Friends (TF)			·				
			3:00 PM	11:01 PM	Wellington (JB)		-					
4/15/2021	9:25 AM	7:25 PM	2:55 PM	11:06 PM	Barclay Friends (TF)	4.50	\$19.92	\$89.64				
	+		3:34 PM	10:54 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
4/16/2021	9:23 AM	7:23 PM	3:47 PM	10:47 PM	Barclay Friends (TF)		-	,				
			7:13 AM	11:02 PM	Wellington (JB)	13.00	\$19.92	\$258.9				
4/17/2021	9:05 AM	10:05 PM	7:40 AM	11:00 PM	Barclay Friends (TF)		-	,				
4/19/2021	9:21 AM	9:21 PM	3:16 PM	10:58 PM	Wellington (JB)	6.00	\$19.92	\$119.5				
1) 20, 2022			3:26 PM	11:04 PM	Wellington (JB)	3.50	\$19.92	\$69.72				
4/20/2021	9:00 AM	7:01 PM	3:41 PM	11:05 PM	Barclay Friends (TF)			,				
			4:03 PM	11:02 PM	Wellington (JB)		-					
4/30/2021	10:36 AM	4:36 PM	3:00 PM	10:46 PM	Barclay Friends (TF)	1.50	\$19.92	\$29.88				
			3:11 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
5/1/2021	9:19 AM	7:19 PM	3:26 PM	11:07 PM	Barclay Friends (TF)							
	·		3:16 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96				
5/3/2021	9:52 AM	3:58 PM	3:31 PM	11:01 PM	Barclay Friends (TF)		-	·				
			3:57 PM	11:06 PM	Wellington (JB)	1.50	\$19.92	\$29.88				
5/4/2021	11:39 AM	5:39 PM	4:11 PM	11:01 PM	Barclay Friends (TF)							
5/5/2021	9:44 AM	3:44 PM	3:15 PM	11:00 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
5/11/2021	9:52 AM	3:52 PM	3:05 PM	11:08 PM	Wellington (JB)	0.75	\$19.92	\$14.9				
5/11/2021	9:22 AM	3:22 PM	3:00 PM	11:05 PM	Weilington (JB)	0.25	\$19.92	\$4.98				
31 741 7077	3.22 AIVI	3,221141	7:59 AM	11:02 PM	Wellington (JB)	10.00	\$19.92	\$199.2				
5/15/2021	9:00 AM	7:02 PM	8:07 AM	10:50 PM	Barclay Friends (TF)	-3	1	,,-				

Silver Heart Outside Employment												
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total				
Date	I iiiie iii	Time Oat	7:02 AM	11:03 PM	Wellington (JB)	10.00	\$19.92	\$199.20				
5/29/2021	9:31 AM	7:31 PM	3:01 PM	10:56 PM	Barclay Friends (TF)	10.00	, ,,,,,,	7.5.5.5.6				
5/31/2021	9:22 AM	3:22 PM	3:02 PM	10:43 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
6/3/2021	9:04 AM	3:03 PM	7:52 AM	11:00 PM	Barclay Friends (TF)	5.75	\$19.92	\$114.54				
6/10/2021	9:46 AM	3:46 PM	8:10 AM	11:04 PM	Wellington (JB)	6.00	\$19.92	\$119.52				
0/10/2021	3,70 AW	3.401141	4:10 PM	11:01 PM	Wellington (JB)	0.00	-	<u> </u>				
6/12/2021	11:49 AM	9:49 PM	9:38 AM	10:33 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.20				
6/14/2021	9:27 AM	3:27 PM	3:01 PM	10:54 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
			3:13 PM	11:01 PM	Wellington (JB)	0.75	\$19.92	\$14.94				
6/16/2021	10:00 AM	4:00 PM	3:24 PM	11:03 PM	Barclay Friends (TF)		'-	,				
6/17/2021	9:37 AM	3:57 PM	3:17 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
			2:58 PM	11:06 PM	Wellington (JB)	1.25	\$19.92	\$24.90				
6/22/2021	10:13 AM	4:13 PM	3:24 PM	10:34 PM	Barclay Friends (TF)		-					
			2:58 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
6/24/2021	9:22 AM	3:22 PM	3:07 PM	10:57 PM	Barclay Friends (TF)		-					
			2:54 PM	11:02 PM	Wellington (JB)	5.25	\$19.92	\$104.58				
6/26/2021	10:20 AM	8:21 PM	3:23 PM	10:05 PM	Barclay Friends (TF)		-					
6/28/2021	9:17 AM	3:17 PM	2:53 PM	10:24 PM	Weilington (JB)	0.25	\$19.92	\$4.98				
	1		7:56 AM	11:00 PM	Wellington (JB)	6.00	\$19.92	\$119.52				
6/30/2021	9:11 AM	3:11 PM	8:09 AM	10:59 PM	Barclay Friends (TF)		-					
			3:00 PM	11:02 PM	Wellington (JB)	0.75	\$19.92	\$14.94				
7/6/2021	9:49 AM	3:49 PM	3:10 PM	11:02 PM	Barclay Friends (TF)		-					
m /4 0 /0 004	0.04.444	7.00 014	3:06 PM	11:02 PM	Wellington (JB)		-					
7/10/2021	9:01 AM	7:02 PM	9:45 AM	11:03 PM	Barclay Friends (TF)	9.25	\$19.92	\$184.26				
7/12/2021	9:51 AM	3:51 PM	3:16 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96				
7 la r /2024	0.50 454	2.50 084	9:28 AM	11:02 PM	Wellington (JB)	5.50	\$19.92	\$109.56				
7/15/2021	8:58 AM	2:58 PM	9:41 AM	11:02 PM	Barclay Friends (TF)		<u>-</u>					
7/20/2021	10:08 AM	4:10 PM	3:05 PM	11:05 PM	Wellington (JB)	1.00	\$19.92	\$19.92				
7/74/2021	9:03 AM	7:10 PM	2:57 PM	11:03 PM	Wellington (JB)		_					
7/24/2021	9:05 AW	7.10 FIVE	7:58 AM	10:55 PM	Barclay Friends (TF)	10.00	\$19. 9 2	\$199.20				
7/20/2021	11:25 AM	5:28 PM	3:12 PM	11:01 PM	Wellington (JB)	2.25	\$19.92	\$44.82				
7/29/2021	11.23 AIVI	J.20 FIVI	3:27 PM	11:06 PM	Barclay Friends (TF)		-					
7/30/2021	9:38 AM	3:36 PM	3:05 PM	11:01 PM	Wellington (JB)	0.50	\$19.92	\$9.96				
7/30/2021	3,36 AIVI	3.30114	3:16 PM	11:01 PM	Barclay Friends (TF)		-					
8/2/2021	11:15 AM	5:15 PM	3:21 PM	11:03 PM	Wellington (JB)	1.75	\$19.92	\$34.86				
0,2,2021	11.13 /141	3.451141	3:34 PM	11:04 PM	Barclay Friends (TF)		-					
8/5/2021	12:01 PM	6:00 PM	3:09 PM	11:01 PM	Wellington (JB)	2.75	\$19.92	\$54.78				
0/3/2021	12.01111	3.00 1 10	3:30 PM	11:03 PM	Barclay Friends (TF)		-					
8/6/2021	10:59 AM	5:02 PM	3:06 PM	11:00 PM	Wellington (JB)	1.75	\$19.92	\$34.86				
0,0,2021	20,000,111,		3:18 PM	11:06 PM	Barclay Friends (TF)		-					
8/7/2021	10:38 AM	8:38 PM	3:17 PM	11:04 PM	Wellington (JB)	5.25	\$19.92	\$104.5				
			3:26 PM	11:05 PM	Barclay Friends (TF)		-	1				
8/9/2021	9:22 AM	4:22 PM	3:03 PM	11:03 PM	Wellington (JB)	1.25	\$19.92	\$24.90				
J, J, 2021	V-72/1171		3:23 PM	11:02 PM	Barclay Friends (TF)		<u>.</u>					
8/11/2021	9:51 AM	3:51 PM	2:59 PM	11:01 PM	Wellington (JB)		-					
-11		0.041.00	2:57 PM	10:58 PM	Barclay Friends (TF)	0.75	\$19.92	\$14.94				
	1		3:06 PM	11:00 PM	Wellington (JB)	1.50	\$19.92	\$29.88				

	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
			2:57 PM	11:06 PM	Wellington (JB)	2.75	\$19.92	\$54.78
8/17/2021	11:52 AM	5:52 PM	3:49 PM	11:02 PM	Barclay Friends (TF)		-	
- 4 4			2:55 PM	11:03 PM	Wellington (JB)	0.25	\$19.92	\$4.98
8/19/2021	9:11 AM	3:14 PM	2:55 PM	11:03 PM	Barclay Friends (TF)		-	
8/21/2021	9:03 AM	7:03 PM	8:30 AM	11:05 PM	Wellington (JB)	10.00	\$19.92	\$199.20
8/23/2021	10:05 AM	4:05 PM	3:00 PM	11:08 PM	Wellington (JB)	1.00	\$19.92	\$19.92
8/25/2021	10:34 AM	4:41 PM	3:35 PM	9:58 PM	Wellington (JB)	1.00	\$19.92	\$19.92
8/26/2021	9:42 AM	3:47 PM	3:04 PM	11:00 PM	Wellington (JB)	0.50	\$19.92	\$9.96
8/27/2021	9:54 AM	3:52 PM	3:26 PM	11:02 PM	Wellington (JB)	0.25	\$19.92	\$4.98
			2:55 PM	11:05 PM	Weilington (JB)	2.50	\$19.92	\$49.80
9/2/2021	11:33 AM	5:33 PM	2:59 PM	11:02 PM	Barclay Friends (TF)		- [
			2:58 PM	11:05 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/3/2021	9:14 AM	3:14 PM	2:58 PM	11:07 PM	Barclay Friends (TF)		-	
			2:50 PM	11:01 PM	Wellington (JB)		-	
9/4/2021	9:09 AM	7:13 PM	10:26 AM	11:09 PM	Barclay Friends (TF)	8.75	\$19.92	\$174.3
			3:08 PM	11:07 PM	Wellington (JB)	1.50	\$19.92	\$29.88
9/6/2021	10:35 AM	4:45 PM	3:18 PM	11:17 PM	Barclay Friends (TF)			
			2:55 PM	11:04 PM	Wellington (JB)	0.75	\$19.92	\$14.94
9/8/2021	9:37 AM	3:42 PM	3:05 PM	10:56 PM	Barclay Friends (TF)		-	
9/10/2021	10:30 AM	4:46 PM	3:42 PM	11:10 PM	Wellington (JB)	1.00	\$19.92	\$19.92
			2:02 PM	11:08 PM	Wellington (JB)	1.00	\$19.92	\$19.92
9/13/2021	9:06 AM	3:06 PM	2:53 PM	11:08 PM	Barclay Friends (TF)		-	
9/14/2021	10:21 AM	4:21 PM	2:39 PM	11:00 PM	Wellington (JB)	1.50	\$19.92	\$29.88
			2:53 PM	11:03 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/16/2021	9:13 AM	3:15 PM	3:00 PM	10:56 PM	Barclay Friends (TF)		-	
		7 45 644	3:22 PM	11:11 PM	Wellington (JB)	4.25	\$19.92	\$84.66
9/18/2021	9:45 AM	7:45 PM	3:33 PM	11:02 PM	Barclay Friends (TF)		-	
	0.7111	5.55.51.4	3:09 PM	11:03 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/20/2021	9:37 AM	3:36 PM	3:21 PM	11:04 PM	Barclay Friends (TF)		-	
2 /2 2 /2 22 4		2 20 244	3:01 PM	10:55 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/22/2021	9:23 AM	3:30 PM	3:12 PM	10:35 PM	Barclay Friends (TF)		-	
			8:01 AM	11:03 PM	Wellington (JB)	6.00	\$19.92	\$119.5
9/23/2021	9:06 AM	3:10 PM	8:12 AM	10:58 PM	Barclay Friends (TF)		-	
0/04/0004	0.54.444	25204	3:03 PM	7:02 AM	Wellington (JB)	0.75	\$19.92	\$14.94
9/24/2021	9:51 AM	3:57 PM	3:14 PM	6:48 AM	Barclay Friends (TF)		-	
0.107.10004	1000.444	4.33.04.6	3:00 PM	11:01 PM	Wellington (JB)	1.25	\$19.92	\$24.90
9/27/2021	10:06 AM	4:23 PM	3:11 PM	11:06 PM	Barclay Friends (TF)		-	
9/28/2021	9:16 AM	3:18 PM	2:56 PM	7:06 AM	Wellington (JB)	0.25	\$19.92	\$4.98
	004444	2 27 544	3:00 PM	11:05 PM	Wellington (JB)		-	
9/30/2021	9:24 AM	3:27 PM	2:59 PM	10:58 PM	Barclay Friends (TF)	0.25	\$19.92	\$4.98
40/4/2004	0.22.444	7.74 544	3:08 PM	11:02 PM	Wellington (JB)	0.25	\$19.92	\$4.98
10/1/2021	9:23 AM	3:34 PM	3:19 PM	11:02 PM	Barclay Friends (TF)	-	-	
10/6/2021	9:26 AM	3:26 PM	2:54 PM	11:04 PM	Wellington (JB)	0.50	\$19.92	\$9.96
			2:51 PM	11:05 PM	Wellington (JB)	0.75	\$19.92	\$14.9
10/7/2021	9:38 AM	3:38 PM	3:06 PM	10:59 PM	Barclay Friends (TF)		•	
10/8/2021	9:00 AM	3:03 PM	9:28 AM	10:59 PM	Barclay Friends (TF)	5.50	\$19.92	\$109.5
10/9/2021	10:30 AM	8:30 PM	3:24 PM	11:00 PM	Wellington (JB)	5.00	\$19.92	\$99.60

Silver Heart Outside Employment												
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total				
			2:58 PM	11:00 PM	Wellington (JB)	0.75	\$19.92	\$14.94				
10/11/2021	9:52 AM	3:52 PM	3:11 PM	10:56 PM	Barclay Friends (TF)		_	•				
10/12/2021	9:07 AM	3:09 PM	2:50 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
			2:53 PM	11:00 PM	Wellington (JB)	1.00	\$19.92	\$19.92				
10/13/2021	10:04 AM	4:04 PM	3:01 PM	11:00 PM	Barclay Friends (TF)		-					
			2:55 PM	11:03 PM	Wellington (JB)		-					
10/16/2021	9:33 AM	7:33 PM	8:02 AM	11:02 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.20				
40/40/0004	44.00.114	F 00 014	2:53 PM	11:06 PM	Wellington (JB)	2.25	\$19.92	\$44.82				
10/18/2021	11:08 AM	5:08 PM	3:05 PM	10:54 PM	Barclay Friends (TF)		-					
40/24/2024	10.54.444	4-54 544	2:55 PM	11:00 PM	Wellington (JB)	1.75	\$19.92	\$34.86				
10/21/2021	10:54 AM	4:54 PM	3:07 PM	10:57 PM	Barclay Friends (TF)		-					
10/22/2021	9:18 AM	3:21 PM	3:05 PM	11:04 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
10/20/2021	10:44 484	4.50 084	3:22 PM	11:00 PM	Wellington (JB)		-					
10/28/2021	10:44 AM	4:50 PM	3:06 PM	11:11 PM	Barclay Friends (TF)	1.50	\$19.92	\$29.88				
10/20/2021	0.42.404	2,44 064	3:03 PM	11:03 PM	Wellington (JB)	0.50	\$19.92	\$9.96				
10/29/2021	9:42 AM	3:44 PM	3:13 PM	10:59 PM	Barclay Friends (TF)		-					
10/30/2021	9:10 AM	7:10 PM	2:53 PM	11:05 PM	Wellington (JB)		-					
10/30/2021	9.10 AW	7,10 FIVI	8:05 AM	11:00 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.20				
11/1/2021	10:57 AM	4:57 PM	3:14 PM	11:06 PM	Wellington (JB)	1.50	\$19.92	\$29.88				
11/1/2021	10.37 AW	4.57 (101	4:08 PM	11:02 PM	Barclay Friends (TF)		~					
11/3/2021	9:52 AM	3:52 PM	2:59 PM	11:04 PM	Wellington (JB)	0.75	\$19.92	\$14.94				
11/3/2021	3.32 AIVI	J.J2 1 W	2:59 PM	11:33 PM	Barclay Friends (TF)		-					
11/4/2021	9:59 AM	4:04 PM	3:03 PM	11:03 PM	Wellington (JB)	1.00	\$19.92	\$19.92				
11/5/2021	10:15 AM	4:16 PM	3:02 PM	11:02 PM	Wellington (JB)	1.00	\$19.92	\$19.92				
			3:13 PM	11:09 PM	Barclay Friends (TF)	·	-					
11/6/2021	9:03 AM	7:03 PM	2:58 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
11/10/2021	9:40 AM	3:46 PM	3:05 PM	11:04 PM	Wellington (JB)	0.50	\$19.92	\$9.96				
			3:17 PM	11:03 PM	Barclay Friends (TF)		-	4				
11/11/2021	1:27 PM	7:30 PM	2:48 PM	11:03 PM	Wellington (JB)	4.50	\$19.92	\$89.64				
11/13/2021	9:10 AM	7:10 PM	8:00 AM	11:05 PM	Wellington (JB)	10.00	\$19.92	\$199.20				
	<u> </u>		3:07 PM	11:05 PM	Barclay Friends (TF)	5.00		400.50				
11/15/2021	2:23 PM	8:23 PM	3:11 PM	11:07 PM	Wellington (JB)	5.00	\$19.92	\$99.60				
			4:06 PM	10:57 PM	Barclay Friends (TF)	0.05	410.00	Ć 4 00				
11/18/2021	9:31 AM	3:38 PM	3:09 PM	11:07 PM	Weilington (JB)	0,25	\$19.92	\$4.98				
		2 45 844	3:10 PM	11:08 PM	Barclay Friends (TF)	0.50	- ¢10.02	\$9.96				
11/19/2021	9:40 AM	3:46 PM	3:04 PM	11:04 PM	Wellington (JB)	0.50	\$19.92					
11/22/2021	10:34 AM	4:34 PM	2:58 PM	11:02 PM	Wellington (JB)	1.50	\$19.92	\$29.88				
11/23/2021	9:32 AM	3:34 PM	3:04 PM	11:03 PM 11:03 PM	Wellington (JB) Barclay Friends (TF)	0.50	\$19.92	\$9.96				
			3:17 PM		Wellington (JB)							
11/27/2021	9:04 AM	7:04 PM	2:55 PM 9:22 AM	11:06 PM 10:55 PM	Barclay Friends (TF)	9.50	\$19.92	\$189.2				
17/2/2021	9:23 AM	2.22 044	9:22 AM 3:04 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
12/2/2021	+	3:23 PM		11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98				
12/3/2021	9;16 AM	3:19 PM	3:03 PM		Wellington (JB)	0.25	\$19.92	\$14.94				
12/9/2021	9:58 AM	3:58 PM	3:00 PM 3:10 PM	11:03 PM 10:55 PM	Barclay Friends (TF)	0.73	- 713.32	714,34				
12/10/2021	0.10 AM	2.77 064	7:00 AM	11:07 PM	Barclay Friends (TF)	6,00	\$19.92	\$119.5				
12/10/2021	9:19 AM	3:22 PM	6:58 AM	11:07 PM	Wellington (JB)	10.00	\$19.92	\$199.2				
12/11/2021	9:00 AM	7:00 PM	7:07 AM	11:05 PM	Barclay Friends (TF)	10.00	717.52	- L. J. J. δ. δ.				

Farris (TF) & Banks (JB) - Silver Heart/Outside Employment Overlap Silver Heart Outside Employment									
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total	
12/15/2021	9:27 AM	4:06 PM	3:00 PM	11:01 PM	Wellington (JB)	1.00	\$19.92	\$19.92	
	31277777		3:10 PM	11:10 PM	Wellington (JB)	0.50	\$19.92	\$9.96	
12/16/2021	9:42 AM	3:43 PM	3:22 PM	11:05 PM	Barclay Friends (TF)		_	,	
12/20/2021			2:56 PM	11:06 PM	Wellington (JB)	0.50	\$19.92	\$9.96	
	9:28 AM	3:28 PM	3:07 PM	11:02 PM	Barclay Friends (TF)		- 1	,	
			3:07 PM	11:07 PM	Wellington (JB)	0.50	\$19.92	\$9.96	
12/22/2021	9:37 AM	3:37 PM	3:17 PM	11:01 PM	Barclay Friends (TF)		` -		
12/23/2021	9:33 AM	3:33 PM	3:07 PM	11:07 PM	Wellington (JB)	0.25	\$19.92	\$4.98	
			2:59 PM	11:02 PM	Wellington (JB)	1.25	\$19.92	\$24.90	
12/24/2021	10:13 AM	4:18 PM	3:08 PM	11:10 PM	Barclay Friends (TF)		-		
			2:56 PM	7:02 AM	Wellington (JB)	4.00	\$19.92	\$79.68	
12/25/2021	9:04 AM	7:02 PM	3:08 PM	7:00 AM	Barclay Friends (TF)		-		
			3:00 PM	10:54 PM	Wellington (JB)	1.00	\$19.92	\$19.92	
12/30/2021	10:10 AM	4:10 PM	3:18 PM	11:00 PM	Barclay Friends (TF)		-		
			2:59 PM	11:05 PM	Wellington (JB)	1.50	\$19.92	\$29.88	
12/31/2021	10:39 AM	4:40 PM	3:00 PM	11:11 PM	Barclay Friends (TF)		-		
1/3/2022	9:42 AM	3:42 PM	3:04 PM	3:41 PM	Wellington (JB)	0.50	\$21.52	\$10.76	
1/8/2022	9:02 AM	7:05 PM	3:08 PM	10:03 PM	Barclay Friends (TF)	3.75	\$21,52	\$80.70	
	,		3:06 PM	11:01 PM	Wellington (JB)	3.75	\$21.52	\$80.70	
1/13/2022	1:02 PM	7:02 PM	3:51 PM	11:07 PM	Barclay Friends (TF)	İ	-		
			2:48 PM	11:03 PM	Wellington (JB)		-		
1/14/2022	9:33 AM	3:34 PM	7:24 AM	11:01 PM	Barclay Friends (TF)	6.00	\$21.52	\$129.12	
			2:56 PM	11:07 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
1/17/2022	9:24 AM	3:24 PM	3:03 PM	11:05 PM	Barclay Friends (TF)		' -	, ,	
1/18/2022	9:16 AM	3:16 PM	2:58 PM	11:06 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
1/20/2022	9:51 AM	3:51 PM	3:00 PM	7:04 AM	Wellington (JB)	0.75	\$21.52	\$16.14	
1/22/2022	9:03 AM	7:04 PM	2:58 PM	11:09 PM	Wellington (JB)	4.00	\$21.52	\$86.08	
			3:01 PM	11:08 PM	Wellington (JB)	2.00	\$21.52	\$43.04	
1/26/2022	11:05 AM	5:10 PM	3:28 PM	10:50 PM	Barclay Friends (TF)			•	
	10:32 AM		2:57 PM	11:07 PM	Wellington (JB)	1.50	\$21,52	\$32,28	
1/27/2022		10:32 AM	4:36 PM	3:15 PM	11:09 PM	Barclay Friends (TF)		, ,	,
· · · · · · · · · · · · · · · · · · ·	10:02 AM	/2/2022 10:02 AM		2:51 PM	11:07 PM	Wellington (JB)	1.00	\$21.52	\$21,52
2/2/2022			4:02 PM	2:59 PM	11:05 PM	Barclay Friends (TF)			
			2:53 PM	11:07 PM	Wellington (JB)	4.75	\$21.52	\$102.22	
2/5/2022	9:46 AM	7:46 PM	3:04 PM	11:00 PM	Barclay Friends (TF)		-	·	
2/10/2022	9:01 AM	3:06 PM	2:50 PM	11:10 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/14/2022	9:14 AM	3:14 PM	2:59 PM	11:02 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/15/2022	10:24 AM	4:27 PM	3:13 PM	11:08 PM	Wellington (JB)	1.00	\$21.52	\$21.52	
2/17/2022	9:23 AM	3:25 PM	2:56 PM	11:04 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/18/2022	9:17 AM	3:17 PM	2:56 PM	11:00 PM	Weilington (JB)	0.25	\$21.52	\$5.38	
2/19/2022	9:36 AM	7:37 PM	3:03 PM	7:09 AM	Wellington (JB)	4.50	\$21.52	\$96.84	
2/23/2022	9:48 AM	4:16 PM	2:49 PM	11:02 PM	Wellington (JB)	1.25	\$21.52	\$26.90	
2/24/2022	9:11 AM	3:52 PM	2:43 PM	11:08 PM	Wellington (JB)	1.00	\$21.52	\$21.52	
2/25/2022	9:22 AM	3:39 PM	2:35 PM	11:03 PM	Wellington (JB)	1.00	\$21.52	\$21.52	
3/1/2022	10:09 AM	4:12 PM	2:39 PM	11:04 PM	Wellington (JB)	1.50	\$21.52	\$32.28	
3/3/2022	10:31 AM	4:31 PM	2:58 PM	11:02 PM	Wellington (JB)	1.50	\$21.52	\$32.28	
			3:06 PM	11:07 PM	Wellington (JB)			,	
3/4/2022	9:46 AM	3:46 PM	8:00 AM	4:00 PM	Terrace CH (TF)	6.00	\$21.52	\$129,1	

	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
3/9/2022	10:37 AM	4:37 PM	3:00 PM	11:00 PM	Terrace CH (TF)	1.50	\$21.52	\$32.28
3/10/2022	10:01 AM	4:01 PM	3:00 PM	11:00 PM	Terrace CH (TF)	1.00	\$21.52	\$21.52
3/12/2022	9:02 AM	7:02 PM	3:10 PM	7:00 AM	Terrace CH (TF)	3.75	\$21.52	\$80.70
3/14/2022	9:42 AM	3:42 PM	3:00 PM	11:00 PM	Terrace CH (TF)	0.50	\$21.52	\$10.76
3/19/2022	9:07 AM	7:13 PM	6:56 AM	11:06 PM	Terrace CH (TF)	10.00	\$21,52	\$215,20
4/2/2022	9:16 AM	7:16 PM	6:53 AM	4:28 PM	Terrace CH (TF)	7.00	\$21.52	\$150.64
4/8/2022	9:02 AM	3:00 PM	7:02 AM	11:12 PM	Terrace CH (TF)	5.75	\$21.52	\$123.74
4/9/2022	9:00 AM	7:04 PM	7:00 AM	3:13 PM	Terrace CH (TF)	6.00	\$21.52	\$129.12
			8:15 AM	2:30 PM	Terrace CH (JB)	4.75	\$21,52	\$102.22
4/14/2022	9:34 AM	3:34 PM	2:52 PM	11:19 PM	Terrace CH (TF)		_	
			7:00 AM	11:00 PM	Terrace CH (JB)	10.00	\$21.52	\$215,20
4/16/2022	9:05 AM	7:05 PM	7:04 AM	11:11 PM	Terrace CH (TF)		-	•
4/21/2022	9:08 AM	3:08 PM	7:07 AM	11:10 PM	Terrace CH (TF)	6.00	\$21.52	\$129.12
4/22/2022	9:01 AM	3:01 PM	7:23 AM	11:13 PM	Terrace CH (TF)	6.00	\$21.52	\$129,12
			7:15 AM	3:11 PM	Terrace CH (JB)	10.00	\$21.52	\$215.20
4/23/2022	9:07 AM	7:07 PM	11:06 AM	3:15 PM	Terrace CH (TF)		-	,
4/25/2022	9:00 AM	3:00 PM	7:59 AM	11:19 PM	Terrace CH (TF)	6.00	\$21.92	\$131.52
4/27/2022	9:01 AM	3:01 PM	7:09 AM	11:08 PM	Terrace CH (JB)	6.00	\$21.92	\$131.52
1/2//2022	3.027	3.02	1:42 PM	11:06 PM	Terrace CH (JB)		-	
4/28/2022	8:59 AM	3:00 PM	7:05 AM	3:52 PM	Terrace CH (TF)	6.00	\$21.92	\$131.5
4/29/2022	9:07 AM	3:07 PM	7:02 AM	3:13 PM	Terrace CH (JB)	6.00	\$21.92	\$131.5
	3.07 7(4)	7:06 PM	7:03 AM	11:03 PM	Terrace CH (JB)	10.00	\$21.92	\$219.20
	9:06 AM		7:00 AM	11:00 PM	Terrace CH (TF)	10.00	7	7220,2
5/4/2022	10:24 AM	4:26 PM	3:00 PM	11:31 PM	Terrace CH (JB)	1.25	\$21.92	\$27.40
5/7/2022	9:00 AM	7:00 PM	2:57 PM	11:04 PM	Terrace CH (JB)	4.00	\$21.92	\$87.68
3,7,2022	3.007.101		3:00 PM	11.09 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
5/11/2022	9:15 AM		3:00 PM	11:08 PM	Terrace CH (TF)	0.25	-	7-1-1-
- ···			8:00 AM	11:08 PM	Terrace CH (JB)	10.00	\$21.92	\$219.20
5/14/2022	9:11 AM	7:18 PM	8:00 AM	11:20 PM	Terrace CH (TF)	20.00	-	¥
5/16/2022	10:36 AM	4:36 PM	2:55 PM	11:04 PM	Terrace CH (JB)	1.50	\$21.92	\$32.88
3/10/2022	10.50 AIV	4.301141	2:56 PM	11:03 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
5/19/2022	9:20 AM	3:20 PM	2:57 PM	11:13 PM	Terrace CH (TF)	0.23	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	40.40
			7:33 AM	11:04 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
5/21/2022	9:02 AM	7:02 PM	7:34 AM	11:19 PM	Terrace CH (TF)	20.00	721.52	7
		·	3:09 PM	11:31 PM	Terrace CH (JB)	0.50	\$21.92	\$10,96
5/25/2022	9:39 AM	3:39 PM	3:09 PM	11:31 PM	Terrace CH (TF)	0.50	721.52	φ±0,5¢
5/27/2022	9:26 AM	3:26 PM	9:18 AM	11:06 PM	Terrace CH (TF)	6.00	\$21.92	\$131.5
3/2//2022	3.20 AW	3.20 ; 101	8:21 AM	11:02 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
5/28/2022	9:00 AM	7:02 PM	8:41 AM	11:13 PM	Terrace CH (TF)	15,00	721,52	4 220.2
6/2/2022	9:50 AM	3:50 PM	2:56 PM	11:02 PM	Terrace CH (JB)	0.75	\$21.92	\$16.44
6/4/2022		7:52 PM	·	11:16 PM	Terrace CH (TF)	10.00	\$21.92	\$219.2
0/4/2022	9:52 AM	7 / JE F 191	7:47 AM 3:11 PM	11:16 PM	Terrace CH (JB)	10.00		7213.2
6/6/2022	9:28 AM	3:28 PM	11:02 PM	3:16 PM	Terrace CH (TF)*	5.75	\$21.92	\$126.0
		 			Terrace CH (JB)	0.50	\$21.92	\$10.96
6/8/2022	9:29 AM	3:33 PM	2:52 PM	11:05 PM		0.30	75.134	7.0.70
	1		3:00 PM	11:18 PM	Terrace CH (TF)	10.00	\$21.92	\$219.2
6/11/2022	9:03 AM	7:03 PM	7:07 AM	11:09 PM	Terrace CH (JB)	10.00	75.136	2413.2
6/13/2022	9:05 AM	3:05 PM	7:07 AM 7:41 AM	11:16 PM 11:07 PM	Terrace CH (TF) Terrace CH (TF)	6.00	\$21.92	\$131.5

Silver Heart Outside Employment								
Date	Time In	Time Out	Time in	Time Out	Employer	Overlap	MCO Hourly	Total
6/18/2022	9:31 AM	7:31 PM	7:17 AM	11:41 AM	Terrace CH (JB)	2.00	\$21.92	\$43.84
-,,	3.52.7111		1:01 PM	11:04 PM	Terrace CH (JB)	1.75	\$21.92	\$38.36
6/21/2022	9:00 AM	3:00 PM	1:01 PM	11:16 PM	Terrace CH (TF)			·
6/25/2022			2:52 PM	11:10 PM	Terrace CH (JB)	 	-	
	9:23 AM	7:23 PM	2:48 PM	11:17 PM	Terrace CH (TF)	4.50	\$21.92	\$98.64
			2:52 PM	11:06 PM	Terrace CH (JB)		-	····
6/27/2022	9:31 AM	3:31 PM	1:08 PM	10:44 PM	Terrace CH (TF)	2.25	\$21.92	\$49.32
6/30/2022	9:12 AM	3:17 PM	2:55 PM	11:05 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/1/2022	9:09 AM	3:09 PM	2:53 PM	11:02 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/8/2022	9:15 AM	3:15 PM	3:00 PM	11:00 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
7/9/2022	9:40 AM	7:40 PM	3:00 PM	7:10 AM	Terrace CH (TF)	4.50	\$21.92	\$98.64
7/13/2022	9:05 AM	3:05 PM	6:54 AM	11:05 PM	Terrace CH (JB)	6.00	\$21.92	\$131.5
			2:55 PM	11:06 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/14/2022	9:09 AM	3:14 PM	2:56 PM	11:00 PM	Terrace CH (TF)		-	
			3:48 PM	11:08 PM	Terrace CH (JB)		-	
7/16/2022	9:08 AM	7:08 PM	3:00 PM	11:25 PM	Terrace CH (TF)	4.00	\$21.92	\$87.68
			2:58 PM	11:07 PM	Terrace CH (JB)	0.50	\$21.52	\$10.76
7/19/2022	9:23 AM	3:29 PM	3:01 PM	11:05 PM	Terrace CH (TF)			
			7:08 AM	11:02 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
7/23/2022 9:	9;01 AM	7:01 PM	7:09 AM	11:02 PM	Terrace CH (TF)		-	
		3;38 PM	3:05 PM	11:03 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
7/25/2022	9:39 AM		3:10 PM	11:10 PM	Terrace CH (TF)		-	·
	7/2022 9:29 AM 3:2	3:29 PM	3:03 PM	11:02 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/27/2022			3:07 PM	11:11 PM	Terrace CH (TF)	1		
7/28/2022	11:00 AM	5:00 PM	3:13 PM	11:02 PM	Terrace CH (JB)	1.75	\$21.92	\$38.36
7/29/2022	9:08 AM	3:08 PM	8:03 AM	11:16 PM	Terrace CH (TF)	6.00	\$21.92	\$131.5
			2:54 PM	11:01 PM	Terrace CH (JB)	4.25	\$21.92	\$93.16
7/30/2022	9:20 AM	7:20 PM	2:59 PM	11:15 PM	Terrace CH (TF)		-	
8/4/2022	9:29 AM	3:31 PM	3:08 PM	7:11 AM	Terrace CH (TF)	0.25	\$21.92	\$5.48
8/5/2022	9:05 AM	3:05 PM	2:50 PM	11:00 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
			3:05 PM	11:15 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
8/9/2022	9:26 AM	3:26 PM	3:07 PM	7:00 AM	Terrace CH (TF)		-	
8/17/2022	9:24 AM	3:24 PM	3:01 PM	11:15 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
8/18/2022	9:43 AM	3:43 PM	3:12 PM	7:03 AM	Terrace CH (JB)	0.50	\$21.92	\$10.96
			3:09 PM	11:08 PM	Terrace CH (JB)	4.00	\$21.92	\$87.68
8/20/2022	9:20 AM	7;20 PM	3:10 PM	11:08 PM	Terrace CH (TF)			
0/25/2022	0.24 484	2.27.044	3:10 PM	11:05 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
8/25/2022	9:31 AM	3:37 PM	3:12 PM	7:00 AM	Terrace CH (TF)			
8/29/2022	10:40 AM	4:40 PM	3:09 PM	11:07 PM	Terrace CH (JB)	1.50	\$21.92	\$32.88
9/1/2022	9:35 AM	3:35 PM	2:56 PM	11:10 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
9/2/2022	9:32 AM	3:31 PM	3:07 PM	11:00 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
	10:10 444	Q110 DA4	3:09 PM	11:10 PM	Terrace CH (JB)	5.00	\$21.92	\$109.6
9/3/2022	10:18 AM	8:18 PM	3:09 PM	11:00 PM	Terrace CH (TF)		-	
9/5/2022	11:28 AM	5:28 PM	2:58 PM	11:08 PM	Terrace CH (TF)	2.50	\$21.92	\$54.80
	10.02 414		3:12 PM	11:11 PM	Terrace CH (JB)		-	
9/6/2022	10:02 AM	4:02 PM	3:04 PM	11:05 PM	Terrace CH (TF)	0.75	\$21.92	\$16.44
0/7/2022	10.11 484	A.14 PA.4	3:04 PM	11:06 PM	Terrace CH (JB)	1.00	\$21.92	\$21.92
9/7/2022	10:11 AM	4:11 PM	3:06 PM	11:14 PM	Terrace CH (TF)		-	

	Silver	Heart	Outside Em	nlovment					
Date	Time In	Time Out	Time in	Time Out	Employer	Overlap	MCO Hourly	Total	
Date	I I I I I I I I I I I I I I I I I I I	Title Out	3:41 PM	11:03 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96	
9/8/2022	10:25 AM	4:25 PM		1	` '	0.50	7212	710.50	
			3:41 PM	11:07 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48	
9/13/2022	9:32 AM	3:32 PM	3:11 PM	11:07 PM	Terrace CH (JB)	0.25	\$21.92	\$3.46	
			3:16 PM	11:18 PM	Terrace CH (TF)			dr 10	
9/14/2022	9:28 AM	3:28 PM	3:04 PM	11:08 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48	
9/15/2022	9:57 AM	4:02 PM	3:31 PM	11:10 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96	
3/13/2022	3.37 AIVI	4:02 FIVI	3:31 PM	11:00 PM	Terrace CH (TF)		-		
0 /0 4 /0 000	9:16 AM	7:16 PM	10:05 AM	11:01 PM	Terrace CH (JB)	9.00	\$21.92	\$197.2	
9/24/2022	3:10 AM	7:16 PW	10:05 AM	11:25 PM	Terrace CH (TF)				
9/29/2022	9:05 AM	3:05 PM	12:29 PM	11:20 PM	Terrace CH (JB)	2.50	\$21.92	\$54.80	
10/1/2022	9:22 AM	7:22 PM	8:47 AM	11:08 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2	
10/4/2022	9:50 AM	3:50 PM	3:25 PM	11:06 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48	
10/6/2022	11:08 AM	5:08 PM	4:01 PM	11:11 PM	Terrace CH (JB)	1.00	\$21.92	\$21.92	
	9:49 AM		3:43 PM	11:05 PM	Terrace CH (JB)		-		
10/8/2022		7:49 PM	3:06 PM	11:10 PM	Terrace CH (TF)	4.50	\$21.92	\$98.64	
10/10/2022	9:12 AM	3:12 PM	6:47 AM	2:39 PM	Terrace CH (TF)	5.25	\$21.92	\$115.0	
			3:05 PM	11:04 PM	Terrace CH (JB)		-		
10/12/2022	9:48 AM	9:48 AM	3:48 PM	11:01 AM	2:35 PM	Terrace CH (TF)	3.50	\$21.92	\$76.72
10/13/2022	9:06 AM	3:06 PM	8:41 AM	11:03 PM	Terrace CH (JB)	6,00	\$21.92	\$131.5	
			9:57 AM	11:01 PM	Terrace CH (JB)	9.00	\$21.92	\$197.2	
10/15/2022	9:11 AM	7:11 PM	11:05 PM	11:09 AM	Terrace CH (TF)		-		
10/29/2022	8:56 AM	6:56 PM	8:50 AM	11:07 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2	
11/3/2022	9:44 AM	3:44 PM	3:10 PM	11:02 PM	Terrace CH (JB)	0.50	\$21.92	\$10.9	
11/4/2022	9:47 AM	3:47 PM	3:30 PM	11:04 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48	
· ·		-L				1686.75	1	\$34,272	



Please provide the following information for each co-defendant.

Co-Defendant Data Sheet

Docket Number:	Date Filed:	OTN/LiveScan Number	0	Complaint/Incident Number //FI-230125-116F
Defendant Name	First:	Middle:	Last:	
Detendant Name	Jonathan		Banks	
Complaint/Incident Num	iber			Co-Defendant # 1
Tiffany Farris		and histories.		
(Name)				·
3217 N 29 th Street (Home Street Address)				
Philadelphia, PA 19140		267-296-5541		
(City, State, & ZIP Code)		(Telephone #)		
Complaint/Incident Num	nber			Co-Defendant #
(Name)	-avvertichtet			
(Home Street Address)				
(City, State, & ZIP Code)		(Telephone #)		
Complaint/Incident Nun	ıber		. And the way	Co-Defendant #
(Name)				
(Home Street Address)				
(City, State, & ZIP Code)		(Telephone #)		
Complaint/Incident Nun	nber			Co-Defendant #
(Name)				
(Home Street Address)				
(City, State, & ZIP Code)		(Telephone #)		

WARRANT OF ARREST



COMMONWEALTH OF PENNSYLVANIA COUNTY OF PHILADELPHIA

NO. 293480

То		sa bem	er	, or any	other authorized
perso	on, in the n	ame of the Common	(Serving Officer) wealth of Pennsylvania, you are o	commanded to take in	nto custody
	Janor	than Banks	,		
		(Name)	(If unknown,	description)	
if	ne	be found in the s	(Address) said Commonwealth, and bring	him	before us at
	(he, they)	CJC		(him, them) Commonwealth upon	n the complaint or
citati	on of	MEDICOID F	raud	charging	
		neft by dece	ption, Tampering W/	public reco	(him, them)
		onspiracy_		, and furth	er to be dealt with
accor	rding to lay	w and for such purpo	oses this shall be your sufficient v	varrant, Witness the h	nand and official
seal c	of <i>l</i> K	ONE DIMINCY	, this	date/// JUME_	<u>2024</u> .
Bail 1	to be dema	(Judge) unded: \$	_ All N		in the second
			(J)	udge)	